
IMPORTANT INSTRUCTIONS
1. This Question Booklet is divided into three Parts–Part–I, Part–II and Part–III. Part–I contains questions of

Language (Qualifying), Part–II contains questions of General Studies and Part –III contains questions of
Chemistry.

2. Part–I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part–I, English Language consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-II
consists of Question Nos. 31 to 70 and Part-III consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-II and Part-III)

3. All questions carry equal marks.
4. An Answer Sheet has been supplied inside the Question Booklet to mark the answers. You must write your Roll

Number and other particulars in the space provided in the Answer Sheet, failing which your Answer Sheet will
not be evaluated.

5. Immediately after commencement of the examination, you should check up your Question Booklet and attached
answer sheet and ensure that the Question Booklet Series is printed on the top right-hand corner of the Booklet
and the series encoded in answer sheet are same. Also please check that the Booklet contains 48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet have different series. If you find any defect
in this Booklet, get it replaced immediately by a complete Booklet with OMR sheet of the same series.

6. You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

7. Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

8. In the Answer Sheet, there are five circles -   A  ,   B  ,   C  ,   D  and   E  against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint pen only to
mark the answer in the Answer Sheet. Any erasure or change is not allowed.

9. If there is any sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
questions, the English Version will be treated as standard.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

12. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.
E-1. Why is Kerala just the place for you if you

love variety ?
(A) There is something here to please

everyone
(B) Kerala has magical backwaters
(C) Kerala is very boring
(D) More than one of the above
(E) None of the above

E-2. Why should you take a trip to the spice
gardens in the hills ?
(A) To count the spices that are grown

there
(B) To buy some spices
(C) To inhale the fragrance of fresh

cardamoms
(D) More than one of the above
(E) None of the above

E-3. What is Kerala's cuisine known for ?
(A) For its bad taste
(B) For being bland
(C) For its spicy hot flavours
(D) More than one of the above
(E) None of the above

E-4. What gives sea food its pungency?
(A) Coconut and spices
(B) Coconut & spices enhanced by

tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None of the above

E-5. Why would foreign bargain-hunter visitors
never face a problem in Kerala ?
(A) Many foreign languages are spoken

in Kerala
(B) Hindi is the language of

communication in the cities of kerala.
(C) English is spoken and understood

everywhere in Kerala.
(D) More than one of the above
(E) None of the above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a' , 'an', and 'the':
E-6. If you reach _____ Airport on time, you will

catch the flight.
(A) a
(B) an
(C) the
(D) More than one of the above
(E) None of the above

E-7. You should go for ____ early morning walk.
(A) the
(B) a
(C) an
(D) More than one of the above
(E) None of the above

E-8. If 30th April is Tuesday, what day of the
week would be 10th May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None of the above

PART - I
(English Language)
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(Hindi Language)

{ZåZ{b{IV An{R>V JÚm§e Ho$ AmYma na àíZ g§§. H-9
go H-14 VH$ Ho$ àíZm| Ho$ CÎma {X¶o Om¶| &

aVZ Am¡a AO¶ EH$ hr ñHy$b Ho$ N>mÌ Wo & aVZ Jar~ Wm Am¡a
AO¶ YZr & aVZ Jar~ hmoH$a ^r nT>Zo ‘| VoO Wm & g^r {ejH$
CgHo$ ì¶dhma go àgÞ ahVo Wo & BgHo$ {dnarV AO¶ ~hþV ZQ>IQ>
Wm & nT>Zo Ho$ ~Xbo IobZo-Hy$XZo Am¡a ~X‘mer ‘| A{YH$ ‘Z
bJmVm Wm & aVZ Am¡a AO¶ {Xbr XmoñV Wo & Bg{bE aVZ AO¶
H$mo AÀN>m N>mÌ ~ZZo Ho$ {bE gbmh XoVm Wm & AO¶ {ejH$m| H$s
~mV Zht ‘mZVm Wm & EH$ ~ma aVZ go ZmamO hmoH$a AO¶ ̂ mJ ahm
Wm & aVZ Zo Xm¡‹S>H$a AO¶ H$mo amoH$Zm Mmhm & BVZo hr ‘| EH$ ‘moQ>a
Ho$ ZrMo dh {Ja J¶m &

H-9. aVZ Zo Xm¡‹S>H$a AO¶ H$mo ³¶m| amoH$Zm Mmhm ?

(A) aVZ AO¶ go ß¶ma H$aVm Wm

(B) aVZ Am¡a AO¶ EH$ hr ñHy$b ‘| nT>Vo Wo

(C) EH$ ~ma aVZ go ZmamO hmoH$a AO¶ ̂ mJ ahm Wm

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-10. aVZ AO¶ H$mo AÀN>m N>mÌ ~ZZo Ho$ {bE ³¶m| gbmh XoVm
Wm ?

(A) {Xbr XmoñV hmoZo Ho$ H$maU

(B) EH$ ñHy$b ‘| n‹T>Zo Ho$ H$maU

(C) ^mB© hmoZo Ho$ H$maU

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-11. aVZ H¡$gm N>mÌ Wm ?

(A) Jar~

(B) nT>Zo ‘| VoO

(C) g‘PXma

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-12. aVZ Am¡a AO¶ Amng ‘| ³¶m Wo ?

(A) XmoñV

(B) {Xbr XmoñV

(C) ^mB©

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-13. g^r [ejH$ aVZ go ³¶mo àgÞ ahVo Wo ?

(A) aVZ H$s {ZY©ZVm Ho$ H$maU

(B) aVZ Ho$ n[al‘r hmoZo H$maU

(C) aVZ Ho$ ì¶dhma Ho$ H$maU

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-14. AO¶ {H$g H$m‘ ‘| A{YH$ ‘Z bJmVm Wm ?

(A) PJS>Zo ‘|

(B) nT>Zo ‘|

(C) Xm¡S>Zo ‘o

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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{ZåZ{b{IV An{R>V JÚm§e Ho$ AmYma na àíZ g§§. H-15
go H-20 VH$ Ho$ àíZm| Ho$ CÎma {X¶o Om¶| &

{edmOr ̂ maV Ho$ ‘hmZ² dram| _| go EH$ Wo & CZH$m CÔoí¶ ‘hmamUm
àVmn Ho$ CÔoí¶ go ^r Cƒ Wm & do AnZo H$m¶m] ‘| g’$b aho & do
Ho$db dra hr Zht, ~pëH$ EH$ AÀN>o amOZr{Vk ̂ r Wo & CÝhm|Zo bmoJm|
‘| EH$ amï´> H$s ̂ mdZm ̂ a Xr Am¡a ‘amR>m amÁ¶ H$s ñWmnZm H$s & do
H$Å>a {hÝXþ Wo Vmo ̂ r Xygao Ho$ Y‘© Am¡a g§ñH¥${V H$m AmXa H$aVo Wo &
CZHo$ AÀN>o JwUm| Ho$ H$maU g^r bmoJ CZH$m AmXa H$aVo Wo & h‘
bmoJm| H$mo CZHo$ OrdZ go {ejm boZr Mm{hE &

H-15. {edmOr dra hmoZo Ho$ gmW Am¡a ³¶m Wo ?

(A) EH$ AÀN>o amOZr{Vk

(B) loð> {dMmaH$

(C) Hw$eb g‘«mQ>

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-16. {edmOr Zo bmoJm| ‘| H$m¡Z gr ̂ mdZm ̂ a Xr ?

(A) {hÝXþËd H$s

(B) EH$ amï´> H$s

(C) draVm H$s

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-17. {edmOr H$m¡Z Wo ?

(A) ^maV H$m namH«$‘r ¶§moÕm

(B) ^maV Ho$ ‘hmZ² dram| ‘| go EH$

(C) ^maV H$m ‘hmZ² g‘«mQ²>

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-18. bmoJ {edmOr H$m AmXa ³¶m| H$aVo Wo ?

(A) CZH$s draVm Ho$ H$maU

(B) H$Å>a {hÝXÿ hmoZo Ho$ H$maU

(C) CZHo$ AÀN>o JwUm| Ho$ H$maU

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-19. BZ‘| "amOZr{Vk' eãX H$m AW© h¡ -

(A) dh Zr{V {Oggo amÁ¶ H$m g§MmbZ hmoVm h¡

(B) dh Zr{V {Oggo emgZ H$m g§MmbZ hmoVm h¡

(C) amOZr{V go gå~pÝYV Zr{V

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-20. BZ‘| An{R>V JÚm§e H$m erf©H$ h¡ -

(A) {edmOr H$s amḯ>r¶ MoVZm

(B) {edmOr H$m OrdZ

(C) {edmOr H$m namH«$‘

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-21. BZ‘| ì¶{º$dmMH$ g§km h¡ -

(A) ZXr

(B) J§Jm

(C) ~«åhnwÌ

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-22. BZ‘| CÎm‘nwéf gd©Zm‘ h¡ -

(A) ‘¢

(B) Vy

(C) dh

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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H-23. "XþH$mZ na H$moB© Zht Wm &' dm³¶ ‘| {H$g H$maH$ H$m {M•
à¶wº$ hþAm h¡ ?

(A) AnmXmZH$maH$

(B) gå~ÝYH$maH$

(C) A{YH$aU H$maH$

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-24. BZ‘| VËg‘ eãX h¡ -

(A) ~ƒm

(B) nwîn

(C) Mm¡Xh

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-25. BZ‘| ewÕ eãX h¡ -

(A) {ZanamYr

(B) à‘m{UH$

(C) ‘hËd

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-26. BZ‘| "CËH¥$ï>' eãX H$m {dnarVmW©H$ eãX h¡ -

(A) {ZH¥$ï>

(B) AY‘

(C) ZrM

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-27. BZ‘| ewÕ dm³¶ h¡ -

(A) {H$gr ̂ r AmX‘r H$mo ̂ oO Xmo

(B) h‘ Vmo Adí¶ Om¶|Jo

(C) ¶h H${dVm AZoH$ ̂ md àH$Q> H$aVr h¡

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-28. BZ‘| "Ob' eãX H$m n¶m©¶dmMr eãX h¡ -

(A) OrdZ

(B) A‘¥V

(C) nmZr

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-29. "Ohm± bmoJm| H$m {‘bZ hmo' dm³¶IÊS> Ho$ {bE EH$
eãX h¡ -

(A) ‘obm

(B) gå‘obZ

(C) ‘ob

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-30. "IQ>mB© ‘| n‹S>Zm' ‘whmdao H$m AW© h¡ -

(A) P‘obo ‘| n‹S>Zm

(B) M¡Z {‘bZm

(C) {d¿Z AmZm

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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








 .U-15

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-16


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-17

 (A)

 (B)

 (C)

 (D)

 (E)


 .U-18

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-19


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-20

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-21

 (A)

 (B)

 (C)

 (D)

 (E)
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" "  '  .U-22


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-23


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-24

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-25

 (A)

 (B)

 (C)

 (D)

 (E)

 ""  .U-26

 (A)

 (B)

 (C)

 (D)

 (E)

 " "  .U-27

 (A)

 (B)

 (C)

 (D)

 (E)

 "  " .U-28

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-29

 (A)

 (B)


 (C)

 (D)

 (E)

 ""  .U-30

 (A)

 (B)

 (C)

 (D)

 (E)
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(Bengali Language)

²ÌÙÀôy¡y ŒB-9 öíöì†þ B-14Š

îûy™yîûy”#îû ôy•þy þ›íÄ †þ!îûöì¡l îöìØþ– !†þv ö¤ öîûyˆ
¥¥zöì•þ ô%!_« þ›yGëûy– •þ„y¥yîû x˜,öìÜT !Sé¡ lyÐ !•þ!l x!•þ¢ëû ™l#
!Séöì¡l– ~‡l x!•þ ˜%/!‡l# ¥¥zëûy!Séöì¡l– ~¥z ¢yîû#!îû†þ ~î‚
ôyl!¤†þ !m!î™ †þÜT– •þ„y¥yîû ¤¥Ä ¥¥z¡ lyÐ öîûyˆ e«öìô î,!m* þ›y¥zëûy–
•þ„y•þyîû ö¢‡ †þy¡ ’þzþ›!ßi•þ ¥¥z¡Ð ~ô•þ ¤ôöìëû !î¡y•þ ¥¥zöì•þ
¤‚îy˜ xy!¤¡ òöë– !²Ì!£ì ö†þï!ªöì¡îû xyÞØþ¡ •þ„y¥yîû þ›öìÇþ !lÜ›!_
þ›y¥zëûyöìSé— !•þ!l xyþ›l ¤Á›!_ þ›%l/²Ìy® ¥¥zöìîl– Gëûy!¢¡yöìèþîû
Øþy†þy öæþîû•þ þ›y¥zöìîl ~î‚ !•þ!l xy˜y¡öì•þîû ‡îû‹þy þ›y¥zöìîlÐ
†þyôy‡Äylyí îyî% •þ„y¥yîû þ›öìÇþ ¥y¥zöì†þyöìØþÅîû ’þz†þ#¡ !Séöì¡l– !•þ!l
ßºëû‚ ~¥z ¤‚îy˜ ¡¥zëûy îûy™yîûy”#îû ôy•þyîû †%þØþ#öìîû ’þzþ›!ßi•þ ¥¥zöì¡lÐ
¤%¤‚îy˜ Ö!lëûy– îû&§¬yîû x!îîû¡ lëûly×& þ›!’þüöì•þ ¡y!ˆ¡Ð

!•þ!l lëûly×& ¤‚îîû” †þ!îûëûy †þyôy‡Äy îyî%öì†þ î!¡öì¡l–
òòöë ²Ì˜#þ› !l!îëûyöìSé– •þy¥yöì•þ ö•þ¡ !˜öì¡ !†þ ¥¥zöìîÚ xyþ›lyîû
~ ¤%¤‚îyöì̃ G xyôyîû xyîû ²Ìy”îûÇþy ¥¥zöìî lyÐ xyôyîû xyëû%/öì¢£ì
¥¥zëûyöìSéÐ •þöìî xyôyîû ~¥z ¤%‡ öë– îûy™yîûy”# xyîû xly¥yöìîû
²Ìy”•þÄyˆ †þ!îûöìî lyÐ •þy¥z îy ö†þ ?yöìlÚ ö¤ îy!¡†þy– •þy¥yîû ~
¤Á›!_ ö†þ îûÇþy †þ!îûöìîÚ ö†þî¡ xyþ›!l¥z èþîû¤yÐ xyþ›!l
xyôyîû ~¥z x!hsýô †þyöì¡ xyôyöìîû ~†þ!Øþ !èþÇþy !˜’þzléŸél!¥öì¡
xyîû †þy¥yîû †þyöìSé ‹þy!¥îÐóó

†þyôy‡Äy îyî% x!•þ èþo ö¡y†þ ~î‚ !•þ!l îûy™yîûy”#îû
!þ›•þyîû î¦%þ !Séöì¡lÐ îûy™yîûy”#îû ôy•þy ˜%˜Å¢y@ýÌhßì ¥¥zöì¡– !•þ!l
îûy™yîûy”#îû ôy•þyöì†þ î!¡ëûy!Séöì¡l öë– ë•þ !˜l ly xyþ›#¡
!lÜ›!_ þ›yëû– xhsý•þ/ •þ•þ !˜l ö•þyôîûy xy!¤ëûy xyôyîû ˆ,öì¥
xîßiyl †þîû– xy!ô xyþ›lyîû ôy•þyîû ô•þ ö•þyôyöì†þ îûy!‡îÐ
îûy™yîûy”#îû ôy•þy •þy¥yöì•þ xßº#†,þ•þy ¥¥zëûy!Séöì¡lÐ þ›!îûöì¢öì£ì
†þyôy‡Äy îyî% !†þS%é !†þS%é ôy!¤†þ ¤y¥yëÄ †þ!îûöì•þ ‹þy!¥öì¡lÐ òòxyôyîû
~‡lG !†þS%é ¥yöì•þ xyöìSééŸéxyî¢Ä†þ ¥¥zöì¡ ‹þy!¥ëûy ¡¥zîÐóó ~¥zîû*þ›
!ôíÄy †þíy î!¡ëûy îûy™yîûy”#îû ôy•þy ö¤ ¤y¥yëÄ @ýÌ¥öì” xßº#†,þ•þy
¥¥zëûy!Séöì¡lÐ îû&!©”#†%þôyöìîûîû ˜yl @ýÌ¥” •þ„y¥y!˜öì̂ îû ²Ìíô G ö¢£ì
˜yl @ýÌ¥”Ð

†þyôy‡Äy îyî% ~•þ!˜l î%!Vþöì•þ þ›yöìîûl ly¥z öë– •þ„y¥yîûy
~îû*þ› ˜%˜Å¢y@ýÌhßì ¥¥zëûyöìSélÐ ˜¢y ö˜!‡ëûy †þyôy‡Äyîyî% x•þÄhsý
†þy•þîû ¥¥zöì¡lÐ xyîyîû îûy™yîûy”#îû ôy•þy– ë%_«†þöìîû •þ„y¥yîû †þyöìSé
!èþÇþy ‹þy!¥öì•þöìSél– ö˜!‡ëûy xyîûG †þy•þîû ¥¥zöì¡l— î!¡öì¡l–
òòxyþ›!l xyKþy †þîû&l– xy!ô !†þ †þ!îûîÚ xyþ›lyîû ëy¥y ²Ìöìëûy?l#ëû–
xy!ô •þy¥y¥z †þ!îûîÐóó

îûy™yîûy”#îû ôy•þy î!¡öì¡l– òòxy!ô ‹þ!¡¡yô– !†þv
îûy™yîûy”# îû!¥¡Ð ~Çþöì” xy˜y¡•þ ¥¥zöì•þ xyôyîû Ù»Ööìîûîû ëíyíÅ
’þz¥z¡ !¤m* ¥¥zëûyöìSé— x•þ~î îûy™yîûy”# ~†þy ¤ôhßì ¤Á›!_îû
x!™†þy!îû”# ¥¥zöìîÐ xyþ›!l •þy¥yöì†þ ö˜!‡öìîl– xyþ›lyîû †þlÄyîû
ßiyëû •þy¥yöì†þ îûÇþy †þ!îûöìîl– ~¥z xyôyîû !èþÇþyÐ xyþ›!l ~¥z †þíy
ßº#†þyîû †þ!îûöì¡¥z xy!ô ¤%öì‡ ô!îûöì•þ þ›y!îûÐóó

†þyôy‡Äy îyî% î!¡öì¡l– òòxy!ô xyþ›lyîû !l†þØþ ¢þ›í
†þ!îûöì•þ!Sé– xy!ô îûy™yîûy”#öì†þ xyþ›l †þlÄyîû x!™†þ ëb †þ!îûîÐ
xy!ô †þyëûôöìlyîyöì†þÄ ~ †þíy †þ!¥¡yô— xyþ›!l !îÙ»y¤ †þîû&lÐóó

!ë!l ô%ô%£ì%Å– !•þ!l †þyôy‡Äy îyî%îû ‹þöìÇþîû ?¡ ö˜!‡ëûy–
•þ„y¥yîû †þíyëû !îÙ»y¤ †þ!îûöì¡lÐ •þ„y¥yîû ö¤¥z ¢#”Å ÖÜñ x™öìîû
~†þØ%þ xy¥Ïyöì˜îû ¥y!¤ ö˜‡y !˜¡Ð ¥y!¤ ö˜!‡ëûy †þyôy‡Äy îyî%
î%!Vþöì¡l– ¥z!l xyîû î„y!‹þöìîl lyÐ †þyôy‡Äy îyî% •þ„y¥yöì†þ !îöì¢£ì
†þ!îûëûy xl%öìîûy™ †þ!îûöì¡l öë– ~Çþöì” xyôyîû ˆ,öì¥ ‹þ¡%lÐ þ›öìîû
èþoy¤l ˜‡¡ ¥¥zöì¡ xy!¤öìîlÐ îûy™yîûy”#îû ôy•þyîû öë x¥Bþyîû–
ö¤ ˜y!îûoÄ?!l•þéŸé~?lÄ ˜y!îûoÄyîßiyëû •þ„y¥yîû ˆ,öì¥ ëy¥zöì•þ ‹þyöì¥l
ly¥zÐ ~Çþöì” xyîû ˜y!îûoÄ ly¥z– ¤%•þîûy‚ xyîû ö¤ x¥BþyîûG ly¥zÐ
~Çþöì” !•þ!l ëy¥zöì•þ ¤Á¿•þ ¥¥zöì¡lÐ †þyôy‡Äy îyî%– îûy™yîûy”# G
•þy¥yîû ôy•þyöì†þ ¤ëöìb !l?y¡öìëû ¡¥zëûy öˆöì¡lÐ

!•þ!l îû#!•þô•þ þ›#!’þü•þyîû !‹þ!†þê¤y †þîûy¥zöì¡lÐ !†þv
•þ„y¥yîû ?#îl îûÇþy ¥¥z¡ ly– xÒ!˜öìl¥z •þ„y¥yîû ô,•%þÄ ¥¥z¡Ð

’þzþ›ë%_« ¤ôöìëû †þyôy‡Äy îyî% îûy™yîûy”#öì†þ •þy¥yîû
¤Á›!_öì•þ ˜‡¡ ö˜Gëûy¥zöì¡lÐ !†þv îûy™yîûy”# îy!¡†þy î!¡ëûy
•þy¥yöì†þ !l? îyØþ#öì•þ ~†þy íy!†þöì•þ !˜öì¡l ly– xyþ›l ˆ,öì¥¥z
îûy!‡öì¡lÐ †þyöì¡Qîû ¤yöì¥î– îûy™yîûy”#îû ¤Á›!_ ö†þyØþÅ xî
Gëûy’þÅöì¤îû x™#öìl xy!lîyîû ?lÄ ëb þ›y¥zöì¡l– !†þv †þyôy‡Äy
îyî% !îöìî‹þly †þ!îûöì¡l– xy!ô îûy™yîûy”#îû ?lÄ ë•þ˜)îû †þ!îûî–
¤îû†þy!îû †þôÅ‹þy!îûˆ” •þ•þ˜)îû †þ!îûöìî lyÐ †þyôy‡Äyîyî%îû ö†þï¢öì¡
†þyöì¡Qîû ¤yöì¥î !lîûhßì ¥¥zöì¡lÐ †þyôy‡Äyîyî% ßºëû‚ îûy™yîûy”#îû
¤Á›!_îû •þ_´yî™yl †þ!îûöì•þ ¡y!ˆöì¡lÐ

îy!†þ îûy™yîûy”#îû !îîy¥Ð !†þv †þyôy‡Äy îyî% lîÄ•þöìsfîû
ö¡y†þ îy¡Ä!îîyöì¥ •þ„y¥yîû öm£ì !Sé¡Ð !•þ!l !îöìî‹þly †þ!îûöì¡l öë–
îûy™yîûy”#îû !îîy¥ •þy’þüy•þy!’þü ly !˜öì¡– ?y!•þ öˆ¡ ôöìl †þöìîû–
~ô•þ ö†þ¥ •þy¥yîû ly¥zÐ x•þ~î ëöìî îûy™yîûy”#– ßºëû‚ !îöìî‹þly
†þ!îûëûy !îîyöì¥ ¥zFS%é†þ ¥¥zöìî– •þöìî •þy¥yîû !îîy¥ !˜îÐ ~‡l ö¤
ö¡‡yþ›’þüy !¢‡%†þÐ ~¥z èþy!îëûy †þyôy‡Äy îyî% îûy™yîûy”#îû !îîyöì¥îû
ö†þyl ’þzöì̃ Äyˆ ly †þ!îûëûy– •þy¥yöì†þ ’þz_ôîû*öìþ› ¤%!¢!Çþ•þ †þîûy¥zöì¡lÐ
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B-9. îûy™yîûy”#îû ôy•þy ö†þl ˜%/!‡l# ¥¥zëûy!Séöì¡lÚ

(AŠ •þ„y¥yîû x¤%‡ î,!m* þ›yGëûy

(BŠ •þ„y¥yîû ¤Á›!_ ¥yîûyöìly

(CŠ •þ„y¥yîû öôöìëûîû !îîy¥ ly ¥Gëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-10ƒ †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû ôy•þyîû †%þØþ#öìîû ’þzþ›!ßi•þ
¥¥zöì¡lÚ

(AŠ îûy™yîûy”#îû !îîyöì¥îû ²Ìhßìyî !löìëû

(BŠ ¤%¤‚îy˜ ?ylyöì•þ

(CŠ !‹þ!†þê¤yîû ?lÄ

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-11. îûy™yîûy”#îû ôy•þy †þyôy‡Äylyí îyî%îû †þyöìSé !†þ !èþÇþy
‹þy¥zöì¡lÚ

(A) xy!íÅ†þ ¤y¥yëÄ

(B) îûy™yîûy”#îû ëb ölGëûy

(C) !‹þ!†þê¤yîû îÄîßiy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-12. †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû !îîyöì¥îû ’þzöì˜Äyˆ ly
†þ!îûëûy •þy¥yöì†þ ¤%!¢!Çþ•þ †þîûy¥zöì¡lÚ

(A) îy¡Ä!îîyöì¥ •þ„y¥yîû öm£ì !Sé¡

(B) îûy™yîûy”#îû x!lFSéy !Sé¡

(C) ’þzþ›ë%_« þ›ye ly þ›yGëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-13. îûy™yîûy”#îû ôy•þy ö†þl †þyôy‡Äylyí îyî%îû ˆ,öì¥ xîßiyl
†þîûöì•þ ¤Á¿•þ ¥¥zöì¡lÚ

(A) •þ„y¥yîû ˜y!îûoÄ ˜)îû ¥Gëûy

(B) îûy™yîûy”#îû xl%öìîûy™

(C) !‹þ!†þê¤yîû ?lÄ

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-14. †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû ¤Á›!_îû •þ_´yî™yl
!löì? †þ!îûöì•þ ¡y!ˆöì¡lÚ

(A) †þyöì¡Qîû ¤yöì¥öìîîû xl%öìîûyöì™

(B) îûy™yîûy”#îû xl%öìîûyöì™

(C) ¤îû†þy!îû †þôÅ‹þy!îû̂ ” •þ•þ )̃îû †þ!îûöìî ly !îöìî‹þly
†þ!îûëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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²ÌÙÀ¤‚‡Äy ŒB-15 öíöì†þ B-20Š

˜#!® †þ!¥¡ééŸŸŸéé¤•þÄ †þíy î!¡öì•þ!Sé– xyôyîû ö•þy ôöìl ¥ëû
xy?†þy¡ ²Ì†,þ!•þîû hßìî ¡¥zëûy ö•þyôîûy ¤†þöì¡ !†þS%é îy’þüyîy!’þü
xyîû½þ †þ!îûëûySéÐ

xy!ô †þ!¥¡yôééŸŸŸééö˜î#– xyîûéŸé†þy¥yîûG hßìî î%!Vþ ö•þyôyöì̃ îû
ˆyöìëû ¤öì¥ lyÚ

˜#!® †þ!¥¡ééŸŸŸéë‡l hßìî Séy’þüy xyîû öî!¢ !†þS%é þ›yGëûy
ëyëû ly •þ‡l GØþyîû xþ›îÄëû ö˜!‡öì•þ þ›y!îû lyÐ

¤ô#îû x•þÄhsý !îlÁË ôöìly¥îû ¥yöì¤Ä @ýÌ#îy xyl!ô•þ
†þ!îûëûy †þ!¥¡ééŸŸŸéèþˆî•þ#– ²Ì†,þ!•þîû hßìî ~î‚ ö•þyôyöì˜îû hßìöìî
îöì’þüyéŸé~†þØþy ²Ìöìèþ˜ ly¥zÐ ¥z¥y öîy™ ¥ëû ¡ÇþÄ †þ!îûëûy ö˜!‡ëûy
íy!†þöìî– ëy¥yîûy ²Ì†,þ!•þîû hßìîˆyl îû‹þly †þ!îûëûy íyöì†þ •þy¥yîûy
ö•þyôyöì˜îû¥z ô!r˜öìîûîû ²Ì™yl þ›)?y!îûÐ

˜#!® x!èþôyl èþöìîû †þ!¥¡ééŸŸŸéxíÅyê ëy¥yîûy ?öì’þüîû
’þzþ›y¤ly †þöìîû •þy¥yîûy¥z xyôyöì˜îû èþ_«Ð

¤ô#îû †þ!¥¡ééŸŸŸéé~•þ îöì’þüy è%þ¡Øþy î%!Vþöì¡– †þyöì?¥z
~†þØþy ¤%˜#‰Å ÷†þ!æþëû•þ !˜öì•þ ¥ëûÐ xyôyöì˜îû è)þ•þ¤èþyîû î•þÅôyl
¤èþyþ›!•þ ×m*yß›˜ ×#ë%_« è)þ•þlyí îyî% •þ„yîû ’þyëûy!îûöì•þ ôl
lyô†þ ~†þØþy %̃îûhsý þ›˜yöìíÅîû ’þzþ›oöìîîû †þíy î”Åly †þ!îûëûy öë
~†þ!Øþ ²Ìî¦þ !¡!‡ëûyöìSél– ö¤ ö•þyôîûy ¤†þöì¡¥z þ›y‘þ †þ!îûëûySéÐ
xy!ô •þy¥yîû l#öì‹þ¥z =!Øþ†þ•þ†þ †þíy !¡!‡ëûy îûy!‡ëûy!Sé– ë!˜
¤èþÄˆ” xl%ô!•þ †þöìîûl •þöìî þ›y‘þ †þ!îûéŸéxyôyîû ôöìlîû èþyîØþy
•þy¥yöì•þ þ›!îûÜñyîû ¥¥zöìîÐ

!Çþ!•þ †þîûöì?yöì’þü †þ!¥¡ééŸŸŸéö˜öì‡y èþy¥z ¤ô#îû”– ö¡‡†þ
~î‚ þ›y‘þöì†þ öë ¤Á›†þÅ ö¤¥zöìØþ¥z ßºyèþy!î†þ ¤Á›†þÅéŸé•%þ!ô ¥zFSéy
†þ!îûëûy !¡!‡öì¡– xy!ô ¥zFSéy †þ!îûëûy þ›!’þü¡yô– ö†þyöìly þ›öìÇþ !†þS%é
î!¡îyîû îû!¥¡ lyÐ öël ‡yöìþ›îû ¤!¥•þ •þîûîy!îû !ô!¡ëûy öˆ¡Ð
!†þv •þîûîy!îû ë!˜ x!lFS%é†þ x!ßi‹þöìôÅîû ôöì™Ä ö¤¥zéŸé²Ì†þyîû ¤%̂ èþ#îû
xyd#ëû•þy ßiyþ›öìl ²Ìî,_ ¥ëû •þöìî ö¤Øþy ö•þôl öî¢ ßºyèþy!î†þ
~î‚ ôöìly¥îûîû*öìþ› ¤Á›§¬ ¥ëû lyÐ ö¡‡†þ ~î‚ ö×y•þyîû ¤Á›†þÅØþyG
ö¤¥zîû*þ› xßºyèþy!î†þ– x¤˜,¢Ð ö¥ ‹þ•%þîûyll– þ›yöìþ›îû öëôl
¢y!hsý¥z !î™yl †þîû– öël xyîûéŸé?öì§Ã ’þy_«yöìîûîû ö‰y’þüy– ôy•þyöì¡îû
ßf# ~î‚ ²Ìî¦þ ö¡‡öì†þîû î¦%þ ¥¥zëûy ?§Ã@ýÌ¥” ly †þ!îûÐ

öîÄyô ~†þØþy þ›!îû¥y¤ †þ!îûöì•þ ö‹þÜTy †þ!îû¡– †þ!¥¡ééŸŸŸé~öì†þ
ö•þy î¦%þ xöìíÅ¥z î¦þl– •þy¥yîû ’þzþ›öìîû ²Ìî¦þî¦þl ¥¥zöì¡ æþ„yöì¤îû
’þzþ›öìîû æþ„y¤ ¥ëû— ˆ[þöì¤Äyþ›!îû !îöìß³þyØþ†þôäÐ

˜#!® †þ!¥¡ééŸŸŸ¥y!¤îyîû ?lÄ ˜%¥z!Øþ îê¤îû ¤ôëû ²ÌyíÅly †þ!îû—
¥z!•þôöì™Ä þ›y!”!l xôîûöì†þy£ì ~î‚ ™y•%þþ›y‘þ xyëû_ †þ!îûëûy ¡¥zöì•þ
¥¥zöìîÐ Ö!lëûy öîÄyô x•þÄhsý ö†þï•%þ†þ¡yèþ †þ!îû¡Ð ¥y!¤öì•þ
¥y!¤öì•þ †þ!¥¡ééŸŸŸéîöì’þüy ‹þôê†þyîû î!¡ëûySé— xyôyîû ~†þØþy ˆÒ
ôöìl þ›!’þüöì•þöìSéééŸŸŸé

ößËy•þ!ßºl# †þ!¥¡ééŸŸŸéö•þyôîûy ¤ô#öìîûîû ö¡‡yØþy xy? xyîû Ö!löì•þ
!˜öìî ly ö˜!‡öì•þ!SéÐ ¤ô#îû– •%þ!ô þ›öì’þüy– ’þz¥yöì˜îû †þíyëû †þ”Åþ›y•þ
†þ!îûöìëûy lyÐ

ößËy•þ!ßºl#îû xyöì̃ öì¢îû !îîû&öìm* ö†þ¥ xyîû xyþ›!_ †þ!îû¡
lyÐ ~ôléŸé!†þ– ßºëû‚ !Çþ!•þ ö¢¡öìæþîû ’þzþ›îû ¥¥zöì•þ ’þyëûy!îûîû
‡y•þy!Øþ þ›y!’þüëûy xy!l¡ ~î‚ !l•þyhsý !lîû#¥ !lîû&þ›yöìëûîû ôöì•þy
¤‚ë•þ ¥¥zëûy î!¤ëûy îû!¥¡Ð

¤ô#îû þ›!’þüöì•þ ¡y!ˆ¡ééŸŸŸéôyl%£ìöì†þ îy™Ä ¥¥zëûy þ›öì˜ þ›öì˜ ôöìlîû
¤y¥yëÄ ¡¥zöì•þ ¥ëû– ~¥z?lÄ !èþ•þöìîû !èþ•þöìîû xyôîûy ö¤Øþyöì†þ
ö˜!‡öì•þ þ›y!îû lyÐ ôl xyôyöì˜îû xöìl†þ ’þzþ›†þyîû †þöìîû– !†þv
•þy¥yîû ßºèþyî ~ôl¥z öë– xyôyöì˜îû ¤öìD !†þS%éöì•þ¥z ö¤ ¤Á›)”Å
!ô!¡ëûy !ô!¢ëûy íy!†þöì•þ þ›yöìîû lyÐ ¤îÅ˜y !‡Øþ!‡Øþ †þöìîû– þ›îûyô¢Å
ö˜ëû– ’þzþ›öì˜¢ !˜öì•þ xyöì¤– ¤†þ¡ †þyöì?¥z ¥hßìöìÇþþ› †þöìîûÐ ö¤
öël ~†þ?l îy!¥öìîûîû ö¡y†þ ‰öìîûîû ¥¥zëûy þ›!’þüëûyöìSééŸé •þy¥yöì†þ
•þÄyˆ †þîûyG †þ!‘þl– •þy¥yöì†þ èþyöì¡yîy¤yG ˜%/¤y™ÄÐ

B-15. ˜#!®îû ôöì•þ– ²Ì†,þ!•þîû hßìî !löìëû †þ# ¥öìFSéÚ

(A) xþ›îÄëû

(B) x!•þîûOl

(C) xîöì¥¡y

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-16. ¤ô#öìîûîû ôöì•þ– ²Ì†,þ!•þîû hßìî ~î‚ •þyöì˜îû hßìöìîîû ôöì™Ä
†þ# ²Ìöìèþ˜ xyöìSéÚ

(A) ö†þyöìly ²Ìöìèþ˜ öl¥z

(B) !î¢y¡ ²Ìöìèþ˜

(C) ¤yôylÄ ²Ìöìèþ˜

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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B-17. ˜#!® ö†þl ²Ì†,þ!•þîû hßìöìîîû xþ›îÄëû ö˜‡öì•þ þ›yöìîûl lyÚ

(A) •þyîû x!èþôyöìlîû †þyîûöì”

(B) •þyîû xèþyöìîîû †þyîûöì”

(C) •þyîû xþ›‹þöìëûîû †þyîûöì”

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-18. !Çþ!•þ †þ#èþyöìî ö¡‡†þ ~î‚ þ›y‘þöì†þîû ¤Á›†þÅöì†þ î”Åly
†þöìîûöìSélÚ

(A) ßºyèþy!î†þ ~î‚ ¤Á›)”Å

(B) xßºyèþy!î†þ ~î‚ x¤˜,¢

(C) xßºyèþy!î†þ ~î‚ ¤Á›)”Å

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-19. öîÄyöìôîû þ›!îû¥yöì¤îû ô)¡ !î£ìëû †þ#Ú

(A) î¦%þöìcîû î¦þl

(B) ²Ìîöì¦þîû î¦þl

(C) î¦%þc ~î‚ ²Ìîöì¦þîû î¦þl

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-20. ¤ô#öìîûîû ôöì•þ– ôöìlîû ßºèþyî †þ#Ú

(A) ¤¥öìëy!ˆ•þyô)¡†þ

(B) !‡Øþ!‡öìØþ ~î‚ ¥hßìöìÇþþ›†þyîû#

(C) ¤˜y¡yþ›# ~î‚ ’þzþ›öì˜¢ô)¡†þ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-21. òòƒƒƒƒƒæ%þ¡ •%þöì¡ Gîûy !löì?îûy¥z ö˜îßiyöìl !˜öìëû xyöì¤Ðóó
îy†þÄ!Øþöì†þ †þôÅîyöì‹þÄ þ›!îû”•þ †þîûöì¡ ¥öìîééŸŸŸ

(A) ö•þy¡y æ%þ¡=!¡ ö˜îßiyöìl xyöì¤ Göì̃ îû !löì?öì̃ îû
myîûy¥z

(B) æ%þ¡ •%þöì¡ Göì˜îû !löì?öì˜îû myîûy¥z !˜öìëû xy¤y
¥ëû

(C) ö˜îßiyöìl æ%þ¡ •%þöì¡ Gîûy !löì?îûy¥z !˜öìëû xyöì¤

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-22. òòƒƒƒîyî%öì¡yöì†þîû öëôl ò÷î ‘þ †þ ‡ylyƒƒƒƒó öîû‡y!Bþ•þ þ›˜!Øþîû
¤ôy¤ !l”Åëû †þîû&lÐ

(A) ÷ìî‘þ†þ îöì¤ öë ‡ylyëû— ô™Äþ›˜öì¡yþ›# †þôÅ™yîûëûÐ

(B) ÷î‘þöì†þîû ŒxyUþyîûŠ !l!ô_ öë ‡yly Œ‰îûŠ—
!l!ô_ •þêþ›%îû&£ì

(C) ÷î‘þöì†þîû ‡yly— ¤Áº¦þ •þêþ›%îû&£ì

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-23. òƒƒƒƒöˆyîû&=!¡ ¤y!îû ¤y!îû î„y™y íyöì†þÐó ~‡yöìl òöìˆyîû&ó
þ›˜!Øþ ö†þylä !¡öìD îÄî¥*•þ ¥öìëûöìSééÚ

(A) þ›%‚!¡öìD

(B) ßf#!¡öìD

(C) þ›%‚ ~î‚ ßf# ’þzèþëû!¡öìD

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-24. ò÷î‘þ†þ‡ylyó ¢·!Øþ ö†þylä èþy£ìy?y•þÚ

(A) !¥!r˜

(B) æþyîû!¤

(C) ÷î‘þ†þ Œ!¥!r˜Š ~î‚ ‡yly Œæþyîû!¤Š xíÅyê
¤‚†þîû ¢·

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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B-25. ò‹þy¡yØþyîû ôy‹þyëû ö•þy¡y íyöì†þ ‹þyöì£ìîû ¤yô@ýÌ#Ðó öîû‡y!Bþ•þ
þ›˜!Øþîû †þyîû†þ G !îèþ!_« ¥¡ééŸŸŸ

(A) x!™†þîûöì” òëûó !îèþ!_«

(B) †þôÅ†þyîûöì†þ òëûó !îèþ!_«

(C) †þîû”†þyîûöì†þ òëûó !îèþ!_«

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-26. l#öì‹þîû ö†þyl!Øþ òö†þy†þl˜óéŸé~îû ¤ôyíÅ†þ lëûÚ

(A) ’þzêþ›¡

(B) þ›y˜þ›

(C) ¢•þ˜¡

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû7

B-27. þ›îûôy˜ < ²Ìôy˜ ~‡yöìl ™ç!l þ›!îûî•þÅöìlîû ö†þylä îû#!•þ
¡Çþ †þîûy ëyëûÚ

(A) ßºîû¤D!•þ

(B) x!þ›!l!¥!•þ

(C) ßºîûèþ!_« îy !î²Ì†þ£ìÅ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-28. òò?#îéŸé•þyîûy ë!˜ ‡öì¤óóééŸŸŸò?#îéŸé•þyîûyó ¢·!Øþîû î%Äêþ›!_
!l”Åëû †þîû&lÐ

(A) ?#îlîû*þ›# •þyîûy ŒxíÅyê lÇþeŠ [îû*þ›†þ
†þôÅ™yîûëû]

(B) ?#î G •þyîûy Œmr˜Š

(C) ?#îöìlîû •þyîûy Œ¤Áº¦þ •þêþ›%îû&£ìŠ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-29. òò!‹þîû!ßiîû †þöìî l#îû– ¥yëû öîû– ?#îléŸélöì˜Úóó é

éŸŸŸò?#îléŸélöì˜ó ö†þyl †þyîû†þÚ

(A) †þ•,þÅ†þyîûöì†þ òò~óó !îèþ!_«

(B) x!™†þîû” †þyîûöì†þ òò~óó !îèþ!_«

(C) †þîû”†þyîûöì†þ òò~óó !îèþ!_«

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-30. òòô™%¥#l †þöìîûy ly öˆy •þî ôl/öì†þy†þlöì˜Ðóó

éŸŸŸòòô™%¥#lóó †þ# þ›˜Ú

(A) !îöì¢£ìÄ

(B) xîÄëû

(C) !îöì¢£ì”

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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PART - II
(GENERAL STUDIES)

31. Which of the following is the value of
(x+1/x)2 ?
(A) x2 + 1/x2

(B) x2 – 1/x2

(C) x2 + 1/x2  + 1
(D) More than one of the above
(E) None of the above

32. An article is at 10% more than the CP. If
discount of 10% is allowed then which of the
following is right ?
(A) 1% gain
(B) 1% loss
(C) no gain no loss
(D) More than one of the above
(E) None of the above

33. By what number should 81 be divided to get
a perfect cube ?
(A) 3
(B) 6
(C) 7
(D) More than one of the above
(E) None of the above

34. The difference between two whole numbers
is 66. The ratio of the two numbers is 2:5.
The two numbers are :
(A) 60 and 6
(B) 100 and 33
(C) 110 and 44
(D) More than one of the above
(E) None of the above

35. In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.
(A) 30°
(B) 45°
(C) 60°
(D) More than one of the above
(E) None of the above

36. The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm2 is :
(A) 15 cm
(B) 17 cm
(C) 19 cm
(D) More than one of the above
(E) None of the above

37. If (–3)m+1 × (–3)5 = (–3)7, then the value of m
is :
(A) 5
(B) 7
(C) 1
(D) More than one of the above
(E) None of the above

38. If x and y are inversely proportional, then:
(A) y/x = constant
(B) xy = constant
(C) x/y = constant
(D) More than one of the above
(E) None of the above

39. A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combination is R', then the ratio R/R' is ___
(A) 1/25
(B) 1/5
(C) 25
(D) More than one of the above
(E) None of the above

40. An electric heater of resistance 8  draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?
(A) 220 watt
(B) 120 watt
(C) 210 watt
(D) More than one of the above
(E) None of the above
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PART - II
(GENERAL STUDIES)

31. {ZåZ{b{IV ‘| go H$m¡Z gm (x+1/x)2  H$m ‘mZ h¡ ?
(A) x2 + 1/x2

(B) x2 – 1/x2

(C) x2 + 1/x2  + 1
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

32. EH$ boI grnr go 10% A{YH$ na h¡ & ¶{X 10% H$s
Ny>Q> H$s AZw‘{V h¡ Vmo {ZåZ{b{IV ‘| go H$m¡Z gm ghr h¡ ?
(A) 1% bm^
(B) 1% hm{Z
(C) Z bm^ Z hm{Z
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

33. nyU© KZ àmá H$aZo Ho$ {bE 81 H$mo {H$g g§»¶m go {d^m{OV
{H$¶m OmZm Mm{hE ?
(A) 3
(B) 6
(C) 7
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

34. Xmo nyU© g§»¶mAm| Ho$ ~rM H$m A§Va 66 h¡ & XmoZm| g§»¶mAm|
H$m AZwnmV 2:5 h¡ & XmoZm| g§»¶mE± h¢ :
(A) 60 Am¡a 6
(B) 100 Am¡a 33
(C) 110 Am¡a 44
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

35. EH$ g‘m§Va MVŵ w©O ABCD ‘|, H$moU A Am¡a H$moU B H$m
AZwnmV 1:2 h¡ & H$moU A kmV H$s{OE &
(A) 30°
(B) 45°
(C) 60°
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

36. EH$ ~obZ H$s D§$MmB© {OgH$s {ÌÁ¶m 7 go_r h¡ Am¡a Hw$b
gVh joÌ’$b 968 go_r2 h¡ :
(A) 15 go_r
(B) 17 go_r
(C) 19 go_r
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

37. ¶{X (–3)m+1 × (–3)5 = (–3)7, Vmo m H$m _mZ h¡?
(A) 5
(B) 7
(C) 1
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

38. `{X x Am¡a y ì¶wËH«$‘mZwnmVr h¢, Vmo:
(A) y/x = pñWam§H$
(B) xy = pñWam§H$
(C) x/y = pñWam§H$
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

39. à{VamoY R Ho$ {H$gr Vma Ho$ Qw>H$‹S>>o nm§M ~am~a ̂ mJm| ‘| H$mQ>o
OmVo h¢ & BZ Qw>H$‹S>m| H$mo {’$a nmíd© H«$‘ ‘| g§¶mo{OV H$a XoVo
h¢ & ¶{X g§¶moOZ H$m Vwë¶ à{VamoY R' h¡ Vmo R/R' AZwnmZ
H$m ‘mZ ³¶m hmoJm ?
(A) 1/25
(B) 1/5
(C) 25
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

40. 8  à{VamoY H$m H$moB© {dÚwV hrQ>a {dÚwV ‘oÝg ‘| 2 K§Q>o
VH$ 15A {dÚwVYmam boVm h¡ & hrQ>a ‘| CËnÞ D$î‘m H$s Xa
³¶m hmoJr ?
(A) 220 watt
(B) 120 watt
(C) 210 watt
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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41. Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) A convex lens of 50 cm

(B) A concave lens of 50 cm

(C) A concave lens of 5 cm

(D) More than one of the above

(E) None of the above

42. The human eye forms the image of an object
at its ________

(A) Cornea

(B) Iris

(C) Retina

(D) More than one of the above

(E) None of the above

43. Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vas deferens

(D) More than one of the above

(E) None of the above

44. The anther contains _________

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above

(E) None of the above

45. Asexual reproduction takes place through
budding in ______

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above

(E) None of the above

46. Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above

(E) None of the above

47. The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above

(E) None of the above

48. In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above

(E) None of the above

49. What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above

(E) None of the above

50. Which country is not a member of G 7 ?

(A) Russia

(B) Canada

(C) USA

(D) More than one of the above

(E) None of the above
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41. {H$gr eãXH$mof ‘| {bIo N>moQ>o Ajam| H$mo n‹T>Vo g‘¶ Amn
{ZåZ ‘o go H$m¡Z gm boÝg ngÝX H$a|Jo ?

(A) 50 cm ’$moH$g Xÿar H$m CÎmb boÝg

(B) 50 cm ’$moH$g Xÿar H$m AdVb boÝg

(C) 5 cm ’$moH$g Xÿar H$m AdVb boÝg

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

42. {ZåZ{b{IV ‘| go {H$g ̂ mJ na {H$gr dñVw H$m à{V{~å~
~ZmVo h¢ ?

(A) H$m{Z©¶m

(B) n[aVm[aH$m

(C) Ñ{ï> nQ>b

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

43. {ZåZ{b{IV _| go H$m¡Z ‘mXm OZZ V§Ì H$m ̂ mJ Zht h¡ ?

(A) A§S>me¶

(B) J^m©e¶

(C) ewH«$dm{hH$m

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

44. namJH$moe ‘| hmoVo h¢ ............

(A) dmøXb

(B) A§S>me¶

(C) namJH$U

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

45. Ab¢{JH$ OZZ ‘wHw$bZ Ûmam hmoVm h¡ ______

(A) A‘r~m ‘|

(B) ¶rñQ> ‘|

(C) ßbmÁ‘mo{S>¶‘ ‘|

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

46. AnM H$m CnMma H$aZo Ho$ {bE {ZåZ ‘| go {H$g Am¡f{Y H$m
Cn¶moJ hmoVm h¡ ?

(A) à{VO¡{dH$

(B) à{VAåb

(C) nr‹S>mhmar

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

47. CAA Ho$ AÝVJ©V ZmJ[aH$Vm à{H«$¶m Ho$ {bE AmdoXZ Am¡a
{ZînmXZ {H$g Ho$ Ûmam {H$¶m Om¶oJm ?

(A) S>mH$ {d^mJ Ûmam

(B) OZJUZm {d^mJ Ûmam

(C) Ho$ÝÐr¶ gwajm AmB©.~r. Ûmam

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

48. {ZåZ ‘| go {H$g Xoe ‘| ^maV Zo AnZm UPI Mmby {H$¶m
h¡ ?

(A) WmB©boÝS>

(B) å¶mÝ‘ma

(C) ‘moargg

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

49. Bgamo Ûmam 2024 ‘| A§V[aj ¶m{Ì¶mo g{hV ^oOZo dmbo
A§V[aj¶mZ H$m Zm‘ h¡ ______

(A) AmH$me¶mZ

(B) JJZ¶mZ

(C) ~«÷¶mZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

50. H¡$Z gm Xoe G 7 H$m gXñ¶ Zht h¡ ?

(A) agr¶m

(B) H$ZmS>m

(C) ¶w.Eg.E

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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51. The process involved in achieving Green
hydrogen is
(A) Electrolysis
(B) Dehydrogenesis
(C) Dehydration
(D) More than one of the above
(E) None of the above

52. Which technology can be used to revise
deceased individuals ?
(A) Deepfake
(B) AI
(C) Chatbot
(D) More than one of the above
(E) None of the above

53. In cost of living index parameter 2024 which
country is better than India ?
(A) Nigeria
(B) Pakistan
(C) Bangladesh
(D) More than one of the above
(E) None of the above

54. Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) Birsa Munda
(B) Rajendra Prasad
(C) Satya Narayan Sinha
(D) More than one of the above
(E) None of the above

55. Which is the moon-like planet ?
(A) Mercury
(B) Mars
(C) Earth
(D) More than one of the above
(E) None of the above

56. On the basis of fossils which is the origin place
of man ?
(A) Rift valley of Africa
(B) Central Asia
(C) Jerusalem
(D) More than one of the above
(E) None of the above

57. In India dry point settlement is found in
(A) Flood prone area
(B) Bikaner
(C) Aravali region
(D) More than one of the above
(E) None of the above

58. In which district of Bihar Paddy crop
production is maximum ?
(A) Bhojpur
(B) Rohtas
(C) Nalanda
(D) More than one of the above
(E) None of the above

59. On which mountain is Tehran situated ?
(A) Alburz
(B) Zagros
(C) Makran
(D) More than one of the above
(E) None of the above

60. The highest peak in the Eastern Ghats of India
is :
(A) Anai Mudi
(B) Kanchenjunga
(C) Mahendragiri
(D) More than one of the above
(E) None of the above

61. Which of these statements is not a valid reason
for the depletion of flora and fauna ?
(A) Agricultural expansion
(B) Large scale development projects
(C) Grazzing and fuel wood collection
(D) More than one of the above
(E) None of the above

62. In which district of Bihar silk textile production
is maximum ?
(A) Madhubani
(B) Bhagalpur
(C) Aurangabad
(D) More than one of the above
(E) None of the above
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51. h[aV hm¶S´>moOZ àm{á H$m H$m¡Z gm VarH$m h¡ ?
(A) Bbo³Q>́mobm¶{gg
(B) S>rhm¶Ś>moOoZo{gg
(C) {ZO©brH$aU
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

52. H$m¡Z gr VH$ZrH$ ‘¥V H$mo nwZOu{dV {XIm gH$Vr h¡ ?
(A) S>rn’o$H$
(B) E. AmB©
(C) M¡Q ~moQ>
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

53. 2024 Ho$ Or{dV gyMH$m§J AmH$bZ ‘| H$m¡Z gm Xoe ̂ maV
go ~ohVa h¡ ?
(A) ZmBOr[a¶m
(B) nm{H$ñVmZ
(C) ~§½bmXoe
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

54. {H$gmZm| Ho$ {hV ‘| Jm§YrOr Zo 1917 ‘§o MånmaZ gË¶mJ«h
{H$gHo$ gh¶moJ go {H$¶m Wm ?
(A) {~agm ‘wÊS>m
(B) amOoÝÐ àgmX
(C) gË¶Zmam¶U {gÝhm
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

55. MÝÐ‘m gÑí¶ J«h H$m¡Z-gm h¡ ?
(A) ~wY
(B) ‘§Jb
(C) n¥Ïdr
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

56. Ordmí‘ Ho$ AmYma na ‘mZd CËn{Îm Ho$ÝÐ H$m¡Z-gm h¡ ?
(A) A\«$sH$m H$s [aâQ>$ KmQ>r
(B) ‘Ü¶ E{e¶m
(C) Ooégb‘
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

57. ^maV ‘| ewîH$ {dÝXþ ~ñVr {‘bVr h¡
(A) ~m‹T> joÌm| ‘|
(B) {~H$mZoa ‘|
(C) Aamdbr àXoe
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

58. {~hma Ho$ {H$g {Ob| ‘| YmZ H$m CËnmXZ gd©m{YH$ hmoVm h¡?
(A) ^moOnwa
(B) amohVmg
(C) ZmbÝXm
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

59. VohamZ {H$g nd©V na pñWV h¡ ?
(A) Eb~wO©
(B) O¡J«mog
(C) ‘H$amZ
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

60. ^maV Ho$ nydu KmQ> H$s g~go D±$Mr MmoQ>r h¡ …
(A) AZmB© ‘wS>r
(B) H§$MZO§Jm
(C) ‘hoÝÐ{J[a
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

61. BZ‘| go H$m¡Z-gm H$WZ dZñn{V¶m| Am¡a Ordm| H$s H$‘r H$m
d¡Y H$maU Zht h¡ ?
(A) H¥${fJV ’¡$bmd
(B) d¥h²X n¡‘mZo na ¶moOZmAm| H$m {dH$mg
(C) MamB© Am¡a ObmZo H$s bH$‹S>r H$m EH$^rH$aU
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

62. {~hma Ho$ {H$g {Obo ‘| aoe‘r dó H$m CËnmXZ gd©m{YH$
hmoVm h¡ ?
(A) ‘Yw~Zr
(B) ^mJbnwa
(C) Am¡a§Jm~mX
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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63. Who was the viceroy of India during the
Jallianwala Bagh massacre ?

(A) Lord Curzon

(B) Lord Chelmsford

(C) Lord Irwin

(D) More than one of the above

(E) None of the above

64. The first President of the Indian National
Congress was:

(A) Dadabhai Naoroji

(B) W. C. Bonnerjee

(C) Badruddin Tyabji

(D) More than one of the above

(E) None of the above

65. Who among the following is also known as
the Grand old man of India ?

(A) Bal Gangadhar Tilak

(B) Dadabhai Naoroji

(C) Gopal Krishna Gokhale

(D) More than one of the above

(E) None of the above

66. Which of the following movements was
started by M. K. Gandhi ?

(A) Quit India Movement

(B) Non cooperation movement

(C) Swadesi movement

(D) More than one of the above

(E) None of the above

67. Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel

(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above

68. Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above

(E) None of the above

69. Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B) Anugrah Narayan Sinha

(C) Jai Prakash Narayan

(D) More than one of the above

(E) None of the above

70. The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad

(B) Jai Prakash Narayan

(C) Swami Sahajanand Saraswati

(D) More than one of the above

(E) None of the above



2113/HV/M-2024-15/HS-515-E [P.T.O.

63. O{b`m§dmbm ~mJ H$m§S> Ho$ Xm¡amZ ̂ maV H$m dm¶gam¶ H$m¡Z
Wm ?

(A) bmS>© H$O©Z

(B) bmS>© Moåg’$moS>©

(C) bmS>© Ba{dZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

64. ^maVr¶ amï´>r¶ H§$J«og Ho$ nhbo AÜ¶j Wo …

(A) XmXm^mB© Zm¡amoOr

(B) S>ãby. gr. ~moZOu

(C) ~XéÔrZ V¡æ¶~Or

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

65. {ZåZ[b{IV ‘§o go {H$gH$mo "J«¡ÊS> AmoëS> ‘¡Z Am’$ B§{S>¶m'
Ho$ Zm‘ go ̂ r OmZm OmVm h¡ ?

(A) ~mb J§JmYa {VbH$

(B) XmXm ̂ mB© Zm¡amoOr

(C) Jmonmb H¥$îU JmoIbo

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

66. {ZåZ{b{IV ‘| go H$m¡Z go Am§XmobZ E‘. Ho$.Jm§Yr Ûmam ewê$
{H$E JE Wo ?

(A) ^maV N>mo‹S>mo Am§XmobZ

(B) Agh¶moJ Am§XmobZ

(C) ñdXoer Am§XmobZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

67. ~maXmobr gË¶mJ«h H$m ZoVm H$m¡Z Wm ?

(A) gaXma d„^ ̂ mB© nQ>ob

(B) ~mb J§JmYa {VbH$

(C) Odmha bmb Zohé

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

68. {ZåZ{b{IV ‘§o go H$m¡Z hmo‘ ê$b Am§XmobZ go gå~Õ Zhr
Wm ?

(A) EZr {~g|Q>

(B) ~mb J§JmYa {VbH$

(C) gamoOZr Zm¶Sy>

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

69. {H$gZo 1920 B©. ‘| {~hma àmXo{eH$ H$m§J«og H$‘oQ>r H$s ñWmnZm
H$s Wr ?

(A) S>m°. amOoÝÐ àgmX

(B) AZwJ«h Zmam¶U {gÝhm

(C) O¶àH$me Zmam¶U

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

70. 1936 ‘| A{Ib ̂ maVr¶ {H$gmZ g^m (E.AmB©. Ho$. Eg.)
H$s ñWmnZm [~hma ‘| {H$gHo$ ZoV¥Ëd ‘o§ hþB© Wr ?

(A) S>m°. amOoÝÐ àgmX

(B) O¶ àH$me Zmam¶U

(C) ñdm‘r ghOmZ§X gañdVr

(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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71. The critical temperature value obtained from
van der Waals equation is

(A) a/Rb

(B) 8a/27Rb

(C) a/27b2

(D) More than one of the above

(E) None of the above

72. The RMS velocity of oxygen molecule in the
lungs at the normal body temperature, 37°C
(given R = 8.314×107) is

(A) 4.92×104

(B) 6.63×104

(C) 16.6×105

(D) More than one of the above

(E) None of the above

73. Which of the following statements about
crystalline solids is false?

(A) Definite geometrical shape

(B) Sharp melting point

(C) Isotropic in nature

(D) More than one of the above

(E) None of the above

PART - III
(CHEMISTRY)

74. Which of the following is a network solid?

(A) CCl
4

(B) NaCl

(C) SiO
2

(D) More than one of the above

(E) None of the above

75. What are the possible variations in the
tetragonal system?

(A) Primitive

(B) Body-centred

(C) Face-centred

(D) More than one of the above

(E) None of the above

76. Which of the following species is
ferromagnetic?

(A) O
2

(B) C
6
H

6

(C) CrO
2

(D) More than one of the above

(E) None of the above
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PART - III
(CHEMISTRY)

71. d¡Z S>oa dmëg g‘rH$aU go àmá H«$m§{VH$ Vmn‘mZ ‘mZ h¡

(A) a/Rb

(B) 8a/27Rb

(C) a/27b2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

72. eara Ho$ gm‘mÝ¶ Vmn‘mZ, 37°C na ’o$’$‹S>m| ‘| Am°³grOZ
AUw H$m RMS doJ h¡ (R = 8.314×107)

(A) 4.92×104

(B) 6.63×104

(C) 16.6×105

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

73. {H«$ñQ>br¶ R>mogm| Ho$ ~mao ‘| {ZåZ{b{IV ‘| go H$m¡Z gm H$WZ
JbV h¡?

(A) {ZpíMV Á¶m{‘Vr¶ AmH$ma

(B) Vrd« JbZm§H$

(C) àH¥${V ‘| AmBgmoQ>́mo{nH$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

74. {ZåZ{b{IV ‘| go H$m¡Z gm EH$ ZoQ>dH©$ R>mog h¡

(A) CCl
4

(B) NaCl

(C) SiO
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

75. MVwîH$moUr¶ àUmbr ‘| g§̂ m{dV {d{dYVmE± ³¶m h¡?

(A) {à{‘{Q>d

(B) ~m°S>r-g|Q>S>©

(C) ’o$g-g|Q>S>©

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

76. {ZåZ{bf{IV ‘| go H$m¡Z gr àOm{V bm¡hMwå~H$s¶ h¡?

(A) O
2

(B) C
6
H

6

(C) CrO
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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77. For a chemical reaction with rise in temperature
by 10°, the rate constant is nearly

(A) Half

(B) Double

(C) Zero

(D) More than one of the above

(E) None of the above

78. The substance which reduces the rate of
reaction is

(A) Inhibitor

(B) Catalyst+

(C) Collision frequency

(D) More than one of the above

(E) None of the above

79. Which of the following statements is false?

(A) Mathematical representation of rate of
a reaction is given by rate law

(B) Rate constant is the proportionality
factor in the rate law

(C) Molecularity can be zero or an integer

(D) More than one of the above

(E) None of the above

80. The rate of a reaction was found to be equal
to its rate constant at any concentration of
the reactant. The order of the reaction is

(A) First order

(B) Zero order

(C) Second order

(D) More than one of the above

(E) None of the above

81. Which of the following is an example of solid
solutions?

(A) Camphor in nitrogen gas

(B) Oxygen dissolved in water

(C) Hydrogen in palladium

(D) More than one of the above

(E) None of the above

82. The molarity of a solution containing 5 g of
NaOH in 450 mL solution is

(A) 0.278 M

(B) 0.378 M

(C) 0.478 M–

(D) More than one of the above

(E) None of the above
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77. Vmn‘mZ ‘| 10° H$s d¥{Õ Ho$ gmW EH$ agm¶{ZH$ à{V{H«$¶m
Ho$ {bE, Xa pñWam§H$ bJ^J h¡

(A) hm’$

(B) S>~b

(C) Oramo

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

78. dh nXmW© Omo à{V{H«$¶m H$s Xa H$mo H$‘ H$aVm h¡ dh h¡?

(A) AdamoYH$

(B) CËàoaH$ +

(C) Q>H$amd H$s Amd¥{V

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

79. {ZåZ H$WZm| ‘| go H$m¡Zgo JbV h¢?

(A) {H$gr à{V{H«$¶m H$s Xa H$m J{UVr¶ {Zê$nU Xa
{Z¶‘ Ûmam {X¶m OmVm h¡

(B) Xa pñWam§H$ Xa H$mZyZ ‘| AmZwnm{VH$Vm H$maH$ h¡

(C) AmU{dH$Vm eyÝ¶ ¶m nyUmªH$ hmo gH$Vr h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

80. {H$gr A{^{H«$¶m H$m doJ A{^H$maH$ H$s {H$gr ̂ r gm§ÐVm
na CgHo$ doJ pñWam§H$ Ho$ ~am~a nmB© JB©&  Cg A{^{H«$¶m
H$s H$mo{Q> h¡

(A) àW‘ H$mo{Q>

(B) ewÝ¶ H$mo{Q>

(C) {ÛVr¶ H$mo{Q>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

81. {ZåZ{b{IV ‘| go H$m¡Z gm R>mog {db¶Z H$m CXmhaU h¡?

(A) ZmBQ>́moOZ J¡g ‘| H$nya

(B) nmZr ‘| Kwbr hþB© Am°³grOZ

(C) n¡bo{S>¶‘ ‘| hmBŚ>moOZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

82. 450 E‘Eb Kmob ‘| 5 J«m‘ NaOH dmbo Kmob H$s ‘mobaVm
h¡

(A) 0.278 E‘

(B) 0.378 E‘

(C) 0.478 E‘ 
–

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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83. Isotonic solutions have same

(A) Osmotic pressure

(B) Lowering of vapour pressure

(C) Depression of freezing point

(D) More than one of the above

(E) None of the above

84. Which of the following oxides is/are
amphoteric?

(A) SnO
2

(B) CaO

(C) Al
2
O

3

(D) More than one of the above

(E) None of the above

85. Which of the following is incorrect order of
property as indicated?

(A) Na<Al<Si<Mg : Ionisation enthalpy

(B) I<Br<Cl<F : Electron affinity

(C) Na+<F–<O2–<Ne : Atomic size

(D) More than one of the above

(E) None of the above

86. Which of the following parameters can not
be estimated by Born-Haber cycle?

(A) Hydration energy

(B) Lattice energy

(C) Electronegativity

(D) More than one of the above

(E) None of the above

87. The hydration energy of Mg2+ ion is less than
that of

(A) Al3+

(B) Ba2+

(C) Na+

(D) More than one of the above

(E) None of the above

88. Which one of the following is/are molecular
solid

(A) Silica

(B) Calcium fluoride

(C) Methane

(D) More than one of the above

(E) None of the above
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83. g§namgmar {db¶Z Ho$ gm‘mZ hmoVo h¡

(A) namgaU Xm~

(B) dmîn Xm~ H$m AdZ‘Z

(C) {h‘m§H$ H$m AdZ‘Z

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

84. {ZåZ{b{IV ‘| go H$m¡Z gm/go Am°³gmBS> C^¶Y‘u h¡/h¢?

(A) {Q>Z Am°³gmBS>

(B) H¡$pëe¶‘ Am°³gmBS>

(C) Eë¶w‘r{Z¶‘ Am°³gmBS>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

85. {ZåZ{b{IV ‘| go H$m¡Z gm JwUm| Ho$ AZwgma JwU H$m JbV
H«$‘ h¡?

(A) Na<Al<Si<Mg … Am¶ZrH$aU EÝW¡ënr

(B) I<Br<Cl<F … Bbo³Q́>m°Z ~ÝYwVm

(C) Na+<F–<O2–<Ne … na‘mUw AmH$ma

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

86. ~moZ©-h¡~a MH«$ Ûmam {ZåZ{b{IV ‘| go {H$g n¡am‘rQ>a H$mo
Zht {ZH$bm Om gH$Vm h¡?

(A) Ob¶moOZ D$Om©

(B) Ombr D$Om©

(C) Bbo³Q>́moZJo{Q>{dQ>r

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

87. Mg2+ Am¶Z H$s Ob¶moOZ D$Om© Cggo H$‘ hmoVr h¡

(A) Al3+

(B) Ba2+

(C) Na+

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

88. {ZåZ{b{IV ‘| go H$m¡Z gm/go AmU{dH$ R>mog h¡/h¢?

(A) {g{bH$m

(B) H¡$pëe¶‘ âbmoamBS>

(C) ‘rWoZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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89. Among the following oxides, which has the
maximum lattice energy?

(A) CaO

(B) MgO

(C) BaO

(D) More than one of the above

(E) None of the above

90. Which of the following solvents has the lowest
freezing point depression constant?

(A) Cyclohexane

(B) Ethanol

(C) Benzene

(D) More than one of the above

(E) None of the above

91. The value of van’t Hoff factor approaches 4
for the following strong electrolytes as the
solution becomes very dilute

(A) KCl

(B) NaCl

(C) MgSO
4

(D) More than one of the above

(E) None of the above

92. Which of the following molecules show
metamerism?

(A) C
4
H

10
O

(B) C
5
H

12

(C) C
3
H

8
O

(D) More than one of the above

(E) None of the above

93. The structure of the noble gas compound
XeF

4
 is

(A) Square planar

(B) Distorted octahedral

(C) Tetrahedral

(D) More than one of the above

(E) None of the above

94. Ammonia forms complex [Cu(NH
3
)

4
]2+

with copper ions in alkaline solution but not
in acidic solution. The reason is

(A) In an acidic solution hydration protects
Cu2+ ions

(B) In acidic solution protons are
coordinated with ammonia molecules
forming NH4+ ions

(C) Copper hydroxide is amphoteric
substance

(D) More than one of the above

(E) None of the above
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89. {ZåZ{b{IV Am°³gmBS>m| ‘| go {H$gH$s OmbH$ D$Om©
A{YH$V‘ h¡?

(A) H¡$pëe¶‘ Am°³gmBS>

(B) ‘¡½Zr{e¶‘ Am°³gmBS>

(C) ~o[a¶‘ Am°³gmBS>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

90. {ZåZ{b{IV ‘| go {H$g {dbm¶H$ H$m {h‘m§H$ AdZ‘Z
pñWam§H$ g~go H$‘ h¡

(A) g¡³bmoho³gmZo

(B) BWoZm°b

(C) ~|OrZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

91. {ZåZ{b{IV ñQ́>m§J Bbo³Q́>mobmBQ²>g Ho$ {bE d¡ÝQ> hm°’$ H$maH$
H$m ‘mZ 4 VH$ nhþ§M OmVm h¡ O~ {d{b¶Z ~hþV VZw hmo OmVm
h¡

(A) nmoQ>¡{e¶‘ ³bmoamBS>

(B) gmo{S>¶‘ ³bmoamBS>

(C) ‘¡½Zr{e¶‘ gb’o$Q>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

92. {ZåZ{b{IV ‘| go H$m¡Z gm AUw ‘oQ>m‘o[aÁ‘ Xem©Vm h¡?

(A) C
4
H

10
O

(B) C
5
H

12

(C) C
3
H

8
O

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

93. CËH¥$ï> J¡g ¶m¡{JH$ XeF
4
 H$s g§aMZm h¡

(A) dJm©H$ma Vbr¶

(B) {dH¥$V Aï>’$bH$s¶

(C) MVwî’$bH$s¶

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

94. A‘mo{Z¶m jmar¶ Kmob ‘| H$m°na Am¶Zm| Ho$ gmW H$m°åßbo³g
[Cu(NH

3
)

4
]2+  ~ZmVm h¡ bo{H$Z Aåbr¶ Kmob ‘| Zht&

H$maU h¡

(A) Aåbr¶ Kmob ‘| Ob¶moOZ Cu2+ Am¶Zm| H$s ajm
H$aVm h¡

(B) Aåbr¶ Kmob ‘| àmoQ>m°Z A‘mo{Z¶m AUwAm| Ho$ gmW
g‘Ýd{¶V hmoH$a NH4+ Am¶Z ~ZmVo h¢

(C) H$m°na hmBŚ>m°³gmBS> C^¶Y‘u nXmW© h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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95. Identify the incorrect statements about potash
alum

(A) Its aqueous solution gives test of three
types of ions.

(B) Its aqueous solution is acidic in nature.

(C) Its constituent ions loose their identity
in aqueous solution.

(D) More than one of the above

(E) None of the above

96. Which of the following statements about
metal carbonyls, M(CO)

6
, is false?

(A) CO acts as a Lewis base and Lewis
acid

(B) Metal acts as Lewis base and Lewis
acid

(C) p-p back bonding takes place

(D) More than one of the above

(E) None of the above

97. IUPAC name of H
2
[PtCl

6
] is

(A) Hydrogen hexachloroplatinic (IV) acid

(B) Dihydrogen hexachloroplatinate (IV)

(C) Hexachloroplatinic (IV) acid

(D) More than one of the above

(E) None of the above

98. A [M(H
2
O)

6
]2+ complex typically absorbs at

around 600 nm. On treatment with ammonia,
it forms a new complex [M(NH

3
)

6
]2+ which

should have absorption at

(A) 800 nm

(B) 580 nm

(C) 620 nm

(D) More than one of the above

(E) None of the above

99. Which complex is likely to show optical
activity?

(A) cis-[Co(NH
3
)

2
(en)

2
]

(B) trans-[Co(NH
3
)

4
Cl

2
]+

(C) [Cr(H
2
O)

6
]3+

(D) More than one of the above

(E) None of the above

100. Complex [Cr(NH
3
)

4
(NO

2
)

2
]Cl can show

(A) Ionisation isomerism

(B) Linkage isomerism

(C) Optical isomerism

(D) More than one of the above

(E) None of the above
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95. nmoQ>me {’$Q>H$ar Ho$ ~mao ‘| JbV H$WZm| H$mo nhMmZ|

(A) BgH$m Obr¶ Kmob VrZ àH$ma Ho$ Am¶Zm| H$m narjU
XoVm h¡&

(B) BgH$m Obr¶ Kmob Aåbr¶ àH¥${V H$m hmoVm h¡&

(C) BgHo$ KQ>H$ Am¶Z Obr¶ Kmob ‘| AnZr nhMmZ
Imo XoVo h¢&

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

96. YmVw H$m~m}{Zëg, M(CO)6 Ho$ ~mao ‘| {ZåZ{b{IV ‘| go
H$m¡Z gm H$WZ JbV h¡?

(A) CO bwB©g jma Am¡a bwB©g Aåb Ho$ ê$n ‘| H$m¶©
H$aVm h¡

(B) YmVw bwB©g jma Am¡a bwB©g Aåb Ho$ ê$n ‘| H$m¶©
H$aVr h¡

(C) p-p ~¡H$ ~m°pÝS>̈J hmoVr h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

97. H
2
[PtCI

6
] H$m IUPAC Zm‘ h¡

(A) hmBŚ>moOZ ho³gm³bmoamoßbm{Q>{ZH$  (IV) E{gS>

(B) S>mBhmBŚ>moOZ ho³gm³bmoamoßbo{Q>ZoQ>  (IV)

(C) ho³gm³bmoamoßbm{Q>{ZH$  (IV) E{gS>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

98. EH$ [M(H
2
O)

6
]2+ H$m°åßboŠg Am‘Vm¡a na bJ^J 600

nm na Ademo{fV hmoVm h¡& A‘mo{Z¶m Ho$ gmW à{V{H«$¶m
H$aZo na, ¶h EH$ Z¶m H$m°åßbo³g [M(NH

3
)

6
]2+ ~ZmVm

h¡ {OgH$m AdemofU hmoZm Mm{hE

(A) 800 nm

(B) 580 nm

(C) 620 nm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

99. H$m¡Z gm H$m°åßbo³g Am°pßQ>H$b J{V{d{Y {XImZo H$s g§̂ mdZm
h¡?

(A) cis-[Co(NH
3
)

2
(en)

2
]

(B) trans-[Co(NH
3
)

4
Cl

2
]+

(C) [Cr(H
2
O)

6
]3+

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

100. H$m°åßbo³g [Cr(NH
3
)

4
(NO

2
)

2
]Cl  {XIm gH$Vm h¡

(A) Am¶ZrH$aU g‘md¶dVm

(B) qbHo$O g‘md¶dVm

(C) Am°pßQ>H$b g‘md¶dVm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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101. Thermite is a mixture of

(A) Fe powder and Al
2
O

3

(B) Al powder and Fe
2
O

3

(C) Zn powder and Cr
2
O

3

(D) More than one of the above

(E) None of the above

102. Which of the following is not an ore of
magnesium?

(A) Gypsum

(B) Magnesite

(C) Dolomite

(D) More than one of the above

(E) None of the above

103. Which of the following metal(s) is/are
commercially extracted by self-reduction
method from their corresponding ore?

(A) Cu

(B) Pb

(C) Fe

(D) More than one of the above

(E) None of the above

104. The smelting of iron in a blast furnace
involves the following processes:

(A) Reduction

(B) Slag formation

(C) Sublimation

(D) More than one of the above

(E) None of the above

105. Which of the following is sparingly soluble in
cold water and fairly soluble in hot water?

(A) PbCl
2

(B) PbSO
4

(C) Pb(NO
3
)

2

(D) More than one of the above

(E) None of the above

106. Among the carbonates of alkali metals which
one has the highest thermal stability?

(A) Cs
2
CO

3

(B) K
2
CO

3

(C) Na
2
CO

3

(D) More than one of the above

(E) None of the above
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101. W‘m©BQ> {H$gH$m {‘lU h¡?

(A) Fe nmCS>a Am¡a Al
2
O

3

(B) Al nmCS>a Am¡a Fe
2
O

3

(C) Zn nmCS>a Am¡a Cr
2
O

3

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

102. {ZåZ{b{IV ‘| go H$m¡Z gm ‘¡¾r{e¶‘ H$m A¶ñH$ Zht h¡?

(A) {Oßg‘

(B) ‘¡¾ogmBQ>

(C) S>mobmo‘mBQ>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

103. {ZåZ{b{IV ‘| go H$m¡Z gr YmVw AnZo g§JV A¶ñH$ go
ñd-AnM¶Z {d{Y Ûmam ì¶mdgm{¶H$ ê$n go {ZH$mbr OmVr
h¡?

(A) H$m°na

(B) boS>

(C) Am¶aZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

104. ãbmñQ> ’$Z}g ‘| bmoho H$mo JbmZo ‘| {ZåZ{b{IV à{H«$¶mE±
em{‘b hmoVr h¢…

(A) AnM¶Z

(B) YmVw‘b {Z‘m©U

(C) CÜd©nmVZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

105. {ZåZ{b{IV ‘| go H$m¡Z gm R>§S>o nmZr ‘| Aën KwbZerb
Am¡a J‘© nmZr ‘| H$m’$s KwbZerb h¡?

(A) boS> ³bmoamBS>

(B) boS> gb’o$Q>

(C) boS> ZmBQ>́oQ>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

106. jma YmVwAm| Ho$ H$m~m}ZoQ>m| ‘| go {H$gH$s Vmnr¶ pñWaVm g~go
A{YH$ h¡?

(A) gr{O¶‘ H$m~m}ZoQ>

(B) nmoQ>m{g¶‘ H$m~m}ZoQ>

(C) gmo{S>¶‘ H$m~m}ZoQ>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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107. Potassium when heated strongly in oxygen, it
forms

(A) K
2
O

(B) KO
2

(C) K
2
O

2

(D) More than one of the above

(E) None of the above

108. Which of the following is the most important
factor in making lithium metal, the strongest
reducing agent?

(A) Ionisation enthalpy

(B) Hydration enthalpy

(C) Heat of sublimation

(D) More than one of the above

(E) None of the above

109. Which of the following alkaline earth metal
hydroxides is the least soluble in water?

(A) Be(OH)
2

(B) Mg(OH)
2

(C) Ca(OH)
2

(D) More than one of the above

(E) None of the above

110. A metal is burnt in air and the ash on
moistening smells of  NH

3
. The metal is

(A) Na

(B) Mg

(C) Fe

(D) More than one of the above

(E) None of the above

111. Examples of igneous and sedimentary rocks
are

(A) Granite and limestone

(B) Granite and sandstone

(C) Granite and clay

(D) More than one of the above

(E) None of the above

112. Nitrogen dioxide cannot be obtained by
heating

(A) KNO
3

(B) NaNO
3

(C) LiNO
3

(D) More than one of the above

(E) None of the above
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107. nmoQ>¡{e¶‘ H$mo Am°³grOZ ‘| Vrd«Vm go J‘© H$aZo na ~ZVm h¡

(A) K
2
O

(B) KO
2

(C) K
2
O

2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

108. g~go ‘O~yV AnMm¶H$, {b{W¶‘ YmVw ~ZmZo ‘|
{ZåZ{b{IV ‘| go H$m¡Z gm g~go ‘hËdnyU© H$maH$ h¡?

(A) Am¶ZrH$aU EÝW¡ënr

(B) Ob¶moOZ EÝW¡ënr

(C) D$Üd©nmVZ H$s D$î‘m

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

109. {ZåZ{b{IV ‘| go H$m¡Z gm jmar¶ n¥Ïdr YmVw hmBS´>m°³gmBS>
nmZr ‘| g~go H$‘ KwbZerb h¡?

(A) Be(OH)
2

(B) Mg(OH)
2

(C) Ca(OH)
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

110. EH$ YmVw H$mo hdm ‘| Obm¶m OmVm h¡ Am¡a amI H$mo Jrbm
H$aZo na NH

3 
H$s J§Y AmVr h¡& YmVw h¡

(A) gmo{S>¶‘

(B) ‘¡¾r{e¶‘

(C) Am¶aZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

111. Am¾o¶ Ed§ AdgmXr MÅ>mZm| Ho$ CXmhaU h¢

(A) J«oZmBQ> Am¡a MyZm nËWa

(B) J«oZmBQ> Am¡a ~bwAm nËWa

(C) J«oZmBQ> Am¡a {‘Å>r

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

112. ZmBQ>́moOZ S>mBAmm°³gmBS> H$mo J‘© H$aHo$ àmá Zht {H$¶m Om
gH$Vm

(A) KNO
3

(B) NaNO
3

(C) LiNO
3

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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113. Which of the following method is used for
the purification of zirconium

(A) Van Arkel

(B) Mond process

(C) Zone refining

(D) More than one of the above

(E) None of the above

114. Which of the following halogen
disproportionates in water?

(A) F
2

(B) Cl
2

(C) I
2

(D) More than one of the above

(E) None of the above

115. In which of the following cases, the order of
acidic strength is not correct?

(A) HI>HBr>HCl

(B) HIO
4
>HBrO

4
>HClO

4

(C) HClO
4
>HClO

3
>HClO

2

(D) More than one of the above

(E) None of the above

116. The dipole moment of H
2
O

2
 is more than that

of H
2
O but H

2
O

2
 is not a good solvent

because

(A) It has a very high dielectric constant

(B) It dissociates easily and acts as an
oxidising agent

(C) It acts as a reducing agent

(D) More than one of the above

(E) None of the above

117. Which of the following xenon compound has
the same number of lone pairs as in I3–?

(A) XeO
4

(B) XeF
4

(C) XeF
2

(D) More than one of the above

(E) None of the above

118. Find the incorrect statement about borax

(A) It is a useful primary standard for
titrating acids

(B) One mole of borax contains

4 B – O – B bonds

(C) Aqueous solution of borax can be used
as buffer

(D) More than one of the above

(E) None of the above
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113. {OaH$mo{Z¶‘ Ho$ ew{ÕH$aU Ho$ {bE {ZåZ{b{IV ‘| go {H$g
{d{Y H$m Cn¶moJ {H$¶m OmVm h¡

(A) d¡Z AmH}$b

(B) ‘m|S> à{H«$¶m

(C) OmoZ [a’$mBqZJ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

114. {ZåZ{b{IV ‘| go H$m¡Z gm h¡bmoOZ nmZr ‘| AZwnmVhrZ
hmoVm h¡?

(A) âbmo[aZ

(B) ³bmoarZ

(C) Am¶moS>rZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

115. {ZåZ{b{IV ‘| go {H$g pñW{V ‘| Aåbr¶ e{³V H$m H«$‘
ghr Zht h¡?

(A) HI>HBr>HCl

(B) HIO
4
>HBrO

4
>HClO

4

(C) HClO
4
>HClO

3
>HClO

2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

116. H2O2 H$m {ÛY«wd AmKyU© H2O go A{YH$ h¡ bo{H$Z
H2O2 EH$ AÀN>m {dbm¶H$ Zht h¡ ³¶m|{H$

(A) BgH$m namd¡ÚwV {Z¶Vm§H$ ~hþV A{YH$ h¡

(B) ¶h AmgmZr go {dK{Q>V hmo OmVm h¡ Am¡a
Am°³grH$aU EO|Q> Ho$ ê$n ‘| H$m¶© H$aVm h¡

(C) ¶h AnMm¶H$ Ho$ ê$n ‘| H$m¶© H$aVm h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

117. {ZåZ{b{IV ‘| go {H$g O¡ZmoZ ¶m¡{JH$ ‘| I3– Ho$ g‘mZ
EH$mH$s ¶w½‘m| H$s g§»¶m h¡?

(A) XeO
4

(B) XeF
4

(C) XeF
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

118. ~moao³g Ho$ ~mao ‘| JbV H$WZ Ty>±‹T>|

(A) ¶h E{gS> AZw‘mnZ Ho$ {bE EH$ Cn¶moJr àmW{‘H$
‘mZH$ h¡

(B) ~moao³g Ho$ EH$ ‘mob ‘| 4 B - O - B ~m§S> hmoVo h¢

(C) ~moao³g Ho$ Obr¶ Kmob H$mo ~’$a Ho$ ê$n ‘| Cn¶moJ
{H$¶m Om gH$Vm h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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119. Which of the following oxyacid contains both
P – H and P – P bond simultaneously?

(A) H
4
P

2
O

5

(B) H
4
P

2
O

7

(C) H
4
P

2
O

6

(D) More than one of the above

(E) None of the above

120. Calculate x + y + z for H
3
PO

3
 acid, where

x is a number of lone pairs, y is a number of
- bonds and z is a number of -bonds:

(A) 5

(B) 13

(C) 14

(D) More than one of the above

(E) None of the above

121. Which of the following properties of halogens
increase with increasing atomic number?

(A) Ionisation enthalpy

(B) Ionic radius

(C) Enthalpy of vapourisation

(D) More than one of the above

(E) None of the above

122. Which of the following noble gas does not
form clathrate?

(A) Kr

(B) Ne

(C) Xe

(D) More than one of the above

(E) None of the above

123. Which of the following do not have tendency
to act as ligands during complex formation?

(A) BiH
3

(B) PH
3

(C) AsH
3

(D) More than one of the above

(E) None of the above

124. Which of the following act as an oxidising as
well as a reducing agent

(A) HNO
2

(B) H
2
O

2

(C) H
2
S

(D) More than one of the above

(E) None of the above

125. Iodine is formed when potassium iodide
reacts with

(A) ZnSO
4

(B) CuSO
4

(C) Cl
2

(D) More than one of the above

(E) None of the above

126. Iron is rendered passive by treatment with?

(A) conc. HNO
3

(B) dil. H
2
SO

4

(C) HCl

(D) More than one of the above

(E) None of the above
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119. {ZåZ{b{IV ‘| go {H$g Am°³grE{gS> ‘| P-H Am¡a P-P
XmoZm| ~§YZ EH$ gmW hmoVo h¢?

(A) H
4
P

2
O

5

(B) H
4
P

2
O

7

(C) H
4
P

2
O

6

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

120. H3PO3 E{gS> Ho$ {bE x + y + z H$s JUZm H$a|, Ohm§ x
EH$mH$s ¶w½‘m| H$s EH$ g§»¶m h¡, y -~§Ym| H$r EH$
g§»¶m h¡ Am¡a z -~§Ym| H$s EH$ g§»¶m h¡…

(A) 5

(B) 13

(C) 14

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

121. h¡bmoOZ H$m {ZåZ{b{IV ‘| go H$m¡Z gm JwU na‘mUw H«$‘m§H$
~‹T>Zo Ho$ gmW ~‹T>Vm h¡?

(A) Am¶ZrH$aU EÝW¡ënr

(B) Am¶{ZH$ {ÌÁ¶m

(C) dmînrH$aU H$s EÝW¡ënr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

122. {ZåZ{b{IV ‘| go H$m¡Z gr CËH¥$ï> J¡g ³b¡W«oQ> Zht ~ZmVr
h¡?

(A) H«$sßQ>moU

(B) Zr¶Z

(C) O¡ZmoZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

123. {ZåZ{b{IV ‘| go {H$g‘| O{Q>b {Z‘m©U Ho$ Xm¡amZ {bJ¢S> Ho$
ê$n ‘| H$m¶© H$aZo H$s àd¥{Îm Zht hmoVr h¡?

(A) BiH
3

(B) PH
3

(C) AsH
3

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

124. {ZåZ{b{IV ‘| go H$m¡Z Am°³grH$aU Ho$ gmW-gmW
AnM¶Z Ho$ ê$n ‘| H$m¶© H$aVm h¡

(A) HNO
2

(B) H
2
O

2

(C) H
2
S

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

125. nmoQ>o{e¶‘ Am¶moS>mBS> Ho$ gmW à{V{H«$¶m H$aZo na Am¶moS>r>Z
~ZVm h¡

(A) ZnSO
4

(B) CuSO
4

(C) Cl
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

126. {H$gHo$ CnMma go Am¶aZ {ZpîH«$¶ hmo OmVm h¡?

(A) gm§Ð HNO
3

(B) VZw H
2
SO

4

(C) HCl

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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127. The solubility of silver bromide in hypo
solution is due to the formation of

(A) Ag
2
S

2
O

3

(B) [Ag(S
2
O

3
)]–

(C) [Ag(S
2
O

3
)

2
]3–

(D) More than one of the above

(E) None of the above

128. Mercury is the only metal which is liquid at
0°C. This is due to its

(A) Very high ionisation enthalpy and
weak metallic bond

(B) Low ionisation energy

(C) High vapour pressure

(D) More than one of the above

(E) None of the above

129. Which of the following metal nitrate produces
gaseous product when reacts with KCN
solution?

(A) Cu(NO
3
)

2

(B) AgNO
3

(C) Cd(NO
3
)

2

(D) More than one of the above

(E) None of the above

130. Which of the following compound does not
liberate oxygen gas on warming with conc.
H

2
SO

4
?

(A) SO
3

(B) PbO
2

(C) MnO
2

(D) More than one of the above

(E) None of the above

131. Cobalt salt + KNO
2
 + CH

3
COOH  yellow

ppt. The yellow ppt is

(A) Potassium cobaltinitrite

(B) Potassium cobaltonitrate

(C) Cobalt nitrate

(D) More than one of the above

(E) None of the above

132. Which of the following salt will not give
positive brown ring test?

(A) Cu(NO
3
)

2

(B) Pb(NO
3
)

2

(C) Zn(NO
3
)

2

(D) More than one of the above

(E) None of the above

133. Which of the following reactions is Wurtz
reaction?

(A) C
2
H

4
 + H

2
/Pd– C

2
H

6

(B) 2CH
3
Br + 2Na/ether–

 
 C

2
H

6 
+

2NaBr

(C) CH
3
Cl + H

2
/Zn–

 
 CH

4 
+ HCl

(D) More than one of the above

(E) None of the above

134. In which C – C bond of CH
3
CH

2
CH

2
Br, the

inductive effect is expected to be the least?

(A) C
1
 – C

2

(B) C
2
 – C

3

(C) C
1
 – C

3

(D) More than one of the above

(E) None of the above
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127. hmBnmo Kmob ‘| {gëda ~«mo‘mBS> H$s KwbZerbVm {H$gHo$
~ZZo Ho$ H$maU hmoVr h¡?

(A) Ag
2
S

2
O

3

(B) [Ag(S
2
O

3
)]–

(C) [Ag(S
2
O

3
)

2
]3–

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

128. nmam EH$‘mÌ Eogm YmVw h¡ Omo 0°C na Ðd AdñWm ‘| ahVr
h¡& BgHo$ H$maU h¡

(A) ~hþV Cƒ Am¶ZrH$aU EÝW¡ënr Am¡a H$‘Omoa
YmpËdH$ ~§YZ

(B) H$‘ Am¶ZrH$aU D$Om©

(C) Cƒ dmîn X~md

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

129. KCN {db¶Z Ho$ gmW à{V{H«$¶m H$aZo na {ZåZ{b{IV
‘| go H$m¡Z gm YmVw ZmBQ>́oQ> J¡gr¶ CËnmX CËnÞ H$aVm h¡?

(A) Cu(NO
3
)

2

(B) AgNO
3

(C) Cd(NO
3
)

2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

130. {ZåZ{b{IV ‘| go H$m¡Z gm ¶m¡{JH$ gm§ÐU H2SO4 Ho$
gmW J‘© H$aZo na Am°³grOZ J¡g ‘w³V Zht H$aVm h¡&

(A) SO
3

(B) PbO
2

(C) MnO
2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

131. H$mo~mëQ> gmëQ> + KNO
2
 + CH

3
COOH    nrbm

àjon& nrbm àjon h¡

(A) nmoQ>o{e¶‘ H$mo~mpëQ>{ZQ́>mBQ>

(B) nmoQ>o{e¶‘ H$mo~mëQ>moZmBQ>́oQ>

(C) H$mo~mëQ> ZmBQ>́oQ>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

132. {ZåZ{b{IV ‘| go H$m¡Z gm bdU gH$mamË‘H$ ~«mCZ [a¨J
narjU Zht XoJm?

(A) Cu(NO3)2

(B) Pb(NO3)2

(C) Zn(NO3)2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

133. {ZåZ{b{IV ‘| go H$m¡Z gr à{V{H«$¶m dQ²>©O à{V{H«$¶m h¡?

(A) C
2
H

4
 + H

2
/Pd– C

2
H

6

(B) 2CH
3
Br + 2Na/B©Wa–  C

2
H

6 
+

2NaBr

(C) CH
3
Cl + H

2
/Zn–

 
 CH

4 
+ HCl

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

134. CH
3
CH

2
CH

2
Br Ho$ {H$g C-C Am~§Y ‘| àoaH$ à^md

g~go H$‘ hmoZo H$s Cå‘rX h¡?

(A) C
1
 – C

2

(B) C
2
 – C

3

(C) C
1
 – C

3

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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135. Hyperconjugation is possible in

(A) Alkanes

(B) Alkenes

(C) Ethyl cation

(D) More than one of the above

(E) None of the above

136. Calculate the number of sigma and pi bonds
in 2,8-dimethyl-3,6-decadiene

(A) 33 sigma and 2 pi bonds

(B) 22 sigma and 2 pi bonds

(C) 11 sigma and 2 pi bonds

(D) More than one of the above

(E) None of the above

137. Which of the following compounds will
show cis-trans isomerism?

(A) (CH
3
)

2
C=CH-C

2
H

5

(B) C
6
H

5
CH=CH-CH

3

(C) CH
3
CH=CClCH

3

(D) More than one of the above

(E) None of the above

138. Which of the following groups is/are meta-
directing group

(A) – OH

(B) – NO
2

(C) – CHO

(D) More than one of the above

(E) None of the above

139. Among the following, which one is/are
ambidentate nucleophiles

(A) Cyanide ion

(B) Nitrite ion

(C) Hydroxyl ion

(D) More than one of the above

(E) None of the above

140. Which one is the most reactive species in
S

N
1 reaction

(A) (CH
3
)

3
CBr

(B) CH
3
CH

2
CHBrCH

3

(C) (CH
3
)

2
CHCH

2
Br

(D) More than one of the above

(E) None of the above

141. Although chlorine is an electron withdrawing
group, yet it is ortho-, para- directing. The
reason is

(A) Inductive effect

(B) Resonance effect

(C) Mesomeric effect

(D) More than one of the above

(E) None of the above

142. Which of the following compounds possesses
high boiling point?

(A) Methanol

(B) Ethanol

(C) Propan-l-ol

(D) More than one of the above

(E) None of the above
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135. hmBnaH$ÝOwJoeZ g§̂ d h¡

(A) AëHo$Ýg

(B) EoëH$sZ

(C) BWmBb YZm¶Z

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

136. 2, 8-S>mB{‘WmBb-3, 6-S>oH$mS>rZ ‘| {g½‘m Am¡a nmB© ~m§S>
H$s g§»¶m H$s JUZm H$a|

(A) 33 {g½‘m Am¡a 2 nmB© ~m§S>

(B) 22 {g½‘m Am¡a 2 nmB© ~m§S>

(C) 11 {g½‘m Am¡a 2 nmB© ~m§S>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

137. {ZåZ{b{IV ‘| go H$m¡Z gm ¶m¡{JH$ grg-Q>́m§g AmBgmo‘o[aÁ‘
{XImEJm?

(A) (CH
3
)

2
C=CH-C

2
H

5

(B) C
6
H

5
CH=CH-CH

3

(C) CH
3
CH=CClCH

3

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

138. {ZåZ{b{IV ‘| go H$m¡Z gm g‘yh ‘oQ>m {ZX}eZ g‘yh h¡/h¢

(A) –OH

(B) –NO2

(C) –CHO

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

139. {ZåZ{b{IV ‘| go H$m¡Z-gm/go C^¶XÝVw Ý¶yp³b¶mo’$mBb
h¡/h¢

(A) gmBZmBS> Am¶Z

(B) ZmBQ́>mBQ> Am¶Z

(C) hmBŚ>m°p³gb Am¶Z

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

140. S
N
1 à{V{H«$¶m ‘| g~go A{YH$ à{V{H«$¶merb àOm{V H$m¡Z

gr h¡?

(A) (CH
3
)

3
CBr

(B) CH
3
CH

2
CHBrCH

3

(C) (CH
3
)

2
CHCH

2
Br

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

141. ¶Ú{n ³bmoarZ EH$ Bbo³Q>́m°Z AmH$fu g‘yh h¡, {’$a ̂ r ¶h
Am°Wm}-, n¡am-S>m¶aop³Q>̈J h¡& H$maU h¡

(A) àoa{UH$ à^md

(B) AZwZmX à^md

(C) ‘ogmo‘o[aH$ à^md

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

142. {ZåZ{b{IV ‘| go {H$g ¶m¡{JH$ H$m ³dWZm§H$ Cƒ hmoVm h¡?

(A) ‘oWZm°b

(B) BWoZm°b

(C) àmonoZ-1-Amob

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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143. Which of the following is non-aromatic based
on Huckel’s rule

(A) Naphthalene

(B) Anthracene

(C) Phenanthrene

(D) More than one of the above

(E) None of the above

144. Among the following, which one is the correct
increasing order of acid strength?

(A) Propan- l-ol<4-methylphenol<phenol

(B) 4-Methylphenol<pheno1<propan-1-ol

(C) Phenol<propan-1-ol<4-methylphenol

(D) More than one of the above

(E) None of the above

145. Aldehydes are easily oxidised to carboxylic
acids by mild oxidising reagents :

(A) Tollens’ reagent

(B) Fehling’s reagent

(C) Grignard reagent

(D) More than one of the above

(E) None of the above

146. Which of the following statements is incorrect?

(A) Lower aliphatic amines are soluble in
water

(B) Higher amines are essentially insoluble
in water

(C) Amines are more polar than alcohols

(D) More than one of the above

(E) None of the above

147. The correct order of basicity of aliphatic
amines are?

(A) Primary>secondary>tertiary

(B) Secondary> tertiary>primary

(C) Tertiary>secondary>primary

(D) More than one of the above

(E) None of the above

148. Essential amino acids which can not be
synthesized by our body are

(A) Tyrosine

(B) Tryptophan

(C) Histidine

(D) More than one of the above

(E) None of the above

149. Which of the following vitamins are fat
soluble?

(A) Vitamin A

(B) Vitamin D

(C) Vitamin C

(D) More than one of the above

(E) None of the above

150. Which of the following polymers is
biodegradable?

(A) Buna-N

(B) Buna-S

(C) Nylon 2-nylon-6

(D) More than one of the above

(E) None of the above
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143. hHo$b Ho$ {Z¶‘ Ho$ AmYma na {ZåZ{b{IV ‘| go H$m¡Z gm
Zm°Z-Eamo‘o{Q>H$ h¡

(A) Zo‹’$WbrZ >

(B) EÝW«ogrZ

(C) ’o$Z|W«rZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

144. {ZåZ{b{IV ‘| go Aåb e{³V H$m ghr ~‹T>Vm hþAm H«$‘
H$m¡Z gm h¡?

(A) àmonoZ-1-AmoEb<4-{‘WmBb’o$Zmob<{’$Zmob

(B) 4-{‘WmBb’o$Zmob<{’$Zmob<àmonoZ-1-Amob

(C) {’$Zmob<àmonoZ-1-Amob<4-{‘WmBb’o$Zmob

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

145. EpëS>hmBS> hëHo$ Am°³grH$aU A{^H$‘©H$m| X²dmam AmgmZr
go H$m~m}p³O{bH$ Aåb ‘| Am°³grH¥$V hmo OmVo h¢…

(A) Q>m°b|g A{^H$‘©H$

(B) ’o$hqbJ H$m A{^H$‘©H$

(C) {J«¾mS>© A{^H$‘©H$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

146. {ZåZ{b{IV ‘| go H$m¡Z gm H$WZ JbV h¡?

(A) {ZåZ E{b’¡${Q>H$ Eo‘rZ nmZr ‘| KwbZerb hmoVo h¢

(B) Cƒ Eo‘rZ A{Zdm¶© ê$n go nmZr ‘| AKwbZerb
hmoVo h¢

(C) Eo‘rZ EoëH$mohm°b H$s VwbZm ‘| A{YH$ Y«wdr¶ hmoVo h¢

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

147. E{b’¡${Q>H$ E‘mBZ H$s jmaH$Vm H$m ghr H«$‘ ³¶m h¡?

(A) àmW{‘H$ > ‘mÜ¶{‘H$ > V¥Vr¶H$

(B) ‘mÜ¶{‘H$ > V¥Vr¶H$ > àmW{‘H$

(C) V¥Vr¶H$ > ‘mÜ¶{‘H$ > àmW{‘H$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

148. Amdí¶H$ A‘rZmo E{gS> Omo h‘mao eara Ûmam g§íbo{fV Zht
{H$E Om gH$Vo h¢

(A) Q>m¶amo{gZ

(B) {Q>́ßQ>mo\¡$Z

(C) {hpñQ>S>rZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

149. {ZåZ{b{IV ‘| go H$m¡Z gm {dQ>m{‘Z dgm ‘| KwbZerb h¡?

(A) {dQ>m{‘Z E

(B) {dQ>m{‘Z S>r

(C) {dQ>m{‘Z gr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

150. {ZåZ{b{IV ‘| go H$m¡Z gm nm°{b‘a ~m¶mo{S>J«oS>o~b h¡?

(A) ~wZm-EZ

(B) ~wZm-Eg

(C) Zm¶bm°Z 2-Zm¶bm°Z-6

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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àíZ-nwpñVH$m
^mfm, gm‘mÝ¶ AÜ¶¶Z Am¡a agm`Z emó

 g‘¶ : 2:30 KÊQ>o nyUmªH$ : 150

13/HV/M-2024-15

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü¶mZ go n‹T> b|&

E
nwpñVH$m l§¥Ibm

‘hÎdnyU© AZwXoe>

1. ¶h àíZ-nwpñVH$m VrZ ^mJm| ‘| {d^m{OV h¡ - ^mJ-I, ^mJ-II Ed§ ^mJ-III, ^mJ-I ‘| ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) Ho$ àíZ h¢, ^mJ-II ‘|
gm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Z Ho$ àíZ h¢ VWm ^mJ-III ‘| agm`Z emóagm`Z emóagm`Z emóagm`Z emóagm`Z emó Ho$ àíZ h¢&

2. ^mJ-^mJ-^mJ-^mJ-^mJ-I, ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) ‘| àíZ g§»¶m 1 go 30 VH$ àíZ h¢& ^mJ-^mJ-^mJ-^mJ-^mJ-I _| A§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J«oOr ^mfm _| àíZ g§»`m E-1 go E-8 VH$ (g^r Ho$
{bE g_mZ), {hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm _| àíZ g§»`m H-9 go H-30 VH$, CXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfm _| àíZ g§»`m U-9 go U-30 VH$ VWm ~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm _|
àíZ g§»`m B-9 go B-30 VH$ h¢ (Aä`Wu H$mo VrZ ^mfmAm| _| go {H$gr EH$ ^mfm Ho$ àíZ MwZZo h¢)& ^mJ-^mJ-^mJ-^mJ-^mJ-II ‘| àíZ g§»¶m 31 go 70
VWm ^mJ-^mJ-^mJ-^mJ-^mJ-III ‘| àíZ g§»¶m 71 go 150 VH$ h¢& (^mJ-^mJ-^mJ-^mJ-^mJ-II VWm ^mJ-^mJ-^mJ-^mJ-^mJ-III _| àíZ Am¡a CZHo$ CÎma A§J«oOr Ed§ {hÝXr ‘| ‘w{ÐV h¢)

3. g^rg^rg^rg^rg^r àíZm| H$m A§H$ g‘mZ h¢&
4. àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡& AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm

AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&
5. narjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na

Xm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVw
X m o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  46  Am ¡ a   Am ¡ a   Am ¡ a   Am ¡ a   Am ¡ a  47) g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  48  ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm
¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma
n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&

6. Bg n¥ð> Ho$ D$na {ZYm©[aV ñWmZ ‘| AnZm AZwH«$‘m§H$ Adí¶ {bI|& àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI|&
7. àË¶oH$ àíZ Ho$ nm±M nm±M nm±M nm±M nm±M CÎma - (A), (B), (C), (D) Am¡a (E) H«$‘ na {X¶o J¶o h¢& CZ‘| go Amn g~go ghr Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ CÎma H$mo MwZ| Am¡a

AnZo CÎma nÌH$ na A§{H$V H$a|& AmnH$m Hw$b àmám§H$ AmnHo$ Ûmam CÎma nÌH$ ‘| A§{H$V ghr CÎmam| na {Z^©a H$aoJm&
8. CÎma nÌH$ ‘| àË¶oH$ àíZ g§»¶m Ho$ gm‘Zo nm±Mnm±Mnm±Mnm±Mnm±M d¥Îm Bg àH$ma ~Zo hþE h¢ -   A  ,   B  ,   C  ,   D  Am¡a  E   & àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo

AnZr ngÝX Ho$ Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ¶mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡& àË¶oH$ àíZ Ho$ {bE Ho$db EH$ CÎma H$mo
MwZ| Am¡a Cgo AnZo CÎma nÌH$ ‘| {M{•V H$a|& Amn CÎma nÌH$ ‘| ¶{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm ‘| {ZemZ bJmVo h¢, Vmo AmnH$m
CÎma JbV ‘mZm Om¶oJm& CÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hr
à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &

9. `{X {H$gr àíZ _| {H$gr àH$ma H$s H$moB© _wÐU `m VÏ`mË_H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| _| go A§J«oOr
ê$nmÝVa H$mo _mZH$ _mZm Om`oJm &

10. àíZ-nwpñVH$m go H$moB© nÝZm ’$m‹S>Zm ¶m AbJ H$aZm ‘Zm h¡& àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y ‘| narjm ^dZ go ~mha H$Xm{n
Z bo Om¶|& narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|& CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo
OmZo H$s AZw‘{V h¡&

11. D$na Ho$ AZwXoem| ‘| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am¶moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo XÊS>
{X¶m Om gH$Vm h¡&

12. Aä¶Wu CÎma nÌH$ H$mo AnZr CnpñW{V ‘| Self Adhesive LDPE Bag ‘| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j
H$mo N>mo ‹S> |&

Note : English version of the instructions is printed on the First Page of this Booklet.

Cå‘rXdma H$m AZwH«$‘m§H$
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